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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%)
g Doctors (%) Female Doctors (%2)

A 19 24

B 21 16

C 9 11

D 12 g

E 17 16

F 14 19

G 8
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D 12 g
E 17 16
F 14 19
G g 6

Number of female doctors is more than the average number of female doctors (taking all seven cities together)
in exactly cities.
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(1) 1
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1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25101] Question Description : general_paper_genarel paper_set 13_english_q1l




2[Option ID=25102]
3[Option ID=25103]
4[Option ID=25104]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors

working in seven different cities A-G. Number of doctors working in all the seven cities is 2400 and the ratio
of male to female among them 1s 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%o}
g Doctors (%) Female Doctors (%2)

A 19 24

B 21 16

o 9 il

D 12 3

E 17 16

F 14 19

G 8
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A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G 8 6

In which of the following cities is the number of male doctors less than the number of female doctors?

A= PRhanie
o g W

(1) 1
) 2
(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25105] Question Description : general_paper_genarel paper_set 13_english_q2
2[Option ID=25106]

3[Option ID=25107]
4[Option ID=25108]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8

6
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TeRIT (%)
et e (24) Higel [dibdd (%)
A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G 8§ 6
In city A, the number of female doctors 1s % of the number of male doctors.
1. 90
2.96
3. 04
4. 80
1) 1
2) 2
(3) 3
4) 4
e¥ A H wigar Ribwe! o1 We gy Risds! o g & %% |
1.90
2.96
3.64
4. 80
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25109] Question Description : general_paper_genarel paper_set 13_english_q3
2[Option ID=25110]
3[Option ID=25111]
4[Option ID=25112]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8

6
Fgfaiad arfae § T 3 el A-c ¥ ordvd ffeas! R ot kiews! 1 gen &1 ufad
faeRor g T g | 9 ard el | rikd Rfees! $ w2400 § SR 595 4Ry SR Bigan @
ST 5:3 § | 34 dIfciep! | 3T U Siidrs! & STYUR U UY BT 3R alfou -
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A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G B 6

What is the difference between the average number of male doctors of cities A, B and C together and the
average number of male doctors of cities E, F and G together?

.48
.50
54
.56
(1 1
2 2
(3) 3
(4) 4
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25113] Question Description : general_paper_genarel paper_set 13_english_q4
2[Option ID=25114]

3[Option ID=25115]
4[Option ID=25116]
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The following table shows the percentage (%) distribution of number of doctors and number of female doctors
working in seven different cities A-G. Number of doctors working in all the seven cities 1s 2400 and the ratio
of male to female among them is 5:3. Based on the data in the table, answer the question.

City-wise Distribution of Doctors.

City Distribution (%0)
g Doctors (%4) Female Doctors (%2)

A 19 24

B 21 16

¢ 9 1l

D 12 2

E 17 16

F 14 19

G 8

6
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et e (24) Higel [dibdd (%)
A 19 24
B 21 16
C 9 11
D 12 g
E 17 16
F 14 19
G B 6

What is the ratio of the number of female doctors in eity D to the number of male doctors in City B?

1.2:5
2. 1:5
3.3:5
4, 4:7
1) 1
(2) 2
(3) 3
(4) 4
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1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25117] Question Description : general_paper_genarel paper_set 13_english_q5
2[Option ID=25118]

3[Option ID=25119]
4[Option ID=25120]
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Given below are two statements:

Statement-I : In learning, law of multiple response means an individual responds to a new situation on the
basis of the responses made by him in similar situations in the past.

Statement-II: In learning. law of analogy implies when an individual is confronted with a new situation, he
responds in a variety of ways before arriving at the correct response.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Staterment I is true but Statement II is false.
. Statement I is false but Statement IT is true.
1 1
2) 2
(3) 3
(4) 4
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1. HUTI AR I SH FA €|
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4, FUF 1 A B, AP S 1 T B
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=25121] Question Description : general_paper_genarel paper_set 13_english_q6
2[Option ID=25122]

3[Option ID=25123]
4[Option ID=25124]
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In ASSURE model of learning, ABCD stands for well-stated learning objectives. What does 'C' stands for?

. Conditioner
. Conditions
. Creativity

. Confusion
(1) 1

(2) 2

3) 3

(4) 4

SHIETH & URAR Uiaey O TEiIS] g-aftld e & Soxdl &1 H9u® ¢ | 384 I [aa1 g ¢ :
1. SR
2. DT
3. fepufedict
4. PHGA
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(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25125] Question Description : general_paper_genarel paper_set 13_english_q7
2[Option ID=25126]

3[Option ID=25127]
4[Option ID=25128]

Sl. No.8
QBID:13201008

The field of study concerned with the construction of thought processes, including remembering, problem
solving and decision-making is called:

. Cognitive development
. Pedagogy

. Epistemology

. Connectivism

(1) 1

(2) 2

3) 3

(4) 4

TR, JHE S 3R Fvfae afgd faer uftear et 3 Sefta sieag o1 87 seaar s
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4. gy
1) 1
2) 2
3) 3
4) 4
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1[Option ID=25129] Question Description : general_paper_genarel paper_set 13_english_q8
2[Option ID=25130]
3[Option ID=25131]
4[Option ID=25132]

Sl. No.9
QBID:13201009

Given below are two statements:

Statement-I: The current SWAYAM platform has been developed by Ministry of Education and IIT, Delhi.
Statement-IT: SWAYAM is designed to achieve the five cardinal principles of education.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
(1) 1
2) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25133] Question Description : general_paper_genarel paper_set 13_english_q9
2[Option ID=25134]
3[Option ID=25135]
4[Option ID=25136]

Sl. No.10
QBID:13201010

Match List I with List IT :

LISTI
(Channels of SWAYAM (Subjiﬁg{_ere -
Prabha)
, o Social Science-3, Management, Library
A Chagnel 03 I |science, Information Science and related
" [PRABODH : P
subjects.
B Channel 04 - 1 Social science-1, Social and Behavioural
" |SAARASWAT " |sciences
C Channel 05 - 1 Social science-4, Law, Legal studies,
" PEABANDHAN " [Human rights and related subjects.
D Channel 06 : v Social science-2. Education, Psychology,
"~ [VIDHIK " [Home science and related subjects.

Choose the correct answer from the options given below:

. AL, B-IV, C-I, D-III
. A-IV, B-I, C-II, D-III
. A-IV, B-II, C-III, D-I
. AT, B-II, C-IV, D-I
1) 1
(2) 2
3) 3
(4) 4
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. A-IL, B-IV, C-I, D-III
. A-IV, B-I, C-II, D-IIT
. A-IV, B-II, C-III, D-I
. A-IIL, B-IL, C-IV, D-I
11
(2) 2
(3) 3
(4) 4
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1[Option ID=25137] Question Description : general_paper_genarel paper_set 13_english_q10
2[Option ID=25138]
3[Option ID=25139]
4[Option ID=25140]
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One of the commonly used abbreviations in report writing by researchers is 'vide' which means.

. refer to

. example
. after

. against

P R

1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=25141] Question Description : general_paper_genarel paper_set 13_english_q11
2[Option ID=25142]
3[Option ID=25143]
4[Option ID=25144]
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Given below are two statements:

Statement-I: Non-parametric tests are often more efficient compared to tests of significance or parametric
tests.

Statement-IT: Non-parametric tests can be applicable to ordinal or nominal scale data.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

3) 3

(4) 4
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4, FYF 1 A B, TP A 1 T B
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25145] Question Description : general_paper_genarel paper_set 13_english_q12
2[Option ID=25146]

3[Option ID=25147]
4[Option ID=25148]

Sl. No.13
QBID:13201013

Given below are two statements:
Statement-I: Ethical violations occur when researchers engage in plagiarism or falsifying data.

Statement-IT: A researcher cannot cite a well known and established fact without providing citation
(reference). otherwise it will be termed as unethical.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true,
(1) 1
(2) 2
3) 3
(4) 4

da L b
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3, PYT 1 9 &, Al BYT 11 3T 5

4. YT A B, TP PUT 1 TA B
(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=25149] Question Description : general_paper_genarel paper_set 13_english_q13
2[Option ID=25150]

3[Option ID=25151]
4[Option ID=25152]

Sl. No.14
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An approach to research in which the investigator creates an environment similar to one of interest in order to
study behaviours in a realistic way. refers to:

1. Naturalistic observation
2. Simulation
3. Longitudinal research
4. Correlational research
(1) 1
(2) 2
(3) 3
(4) 4

MY P & TP FUNTH O PBlg S8l aRafad dild ¥ HdER - HLTH & 1 1 fhdl 3
37¥U UH gRay Fififa Frar 8, o foud defta @

1. UTehicep P&

2. 330 (Regaer)
3.

SfgeE] Ty
4. GEUEE WY

1[Option ID=25153] Question Description : general_paper_genarel paper_set 13_english_q14
2[Option ID=25154]
3[Option ID=25155]
4[Option ID=25156]
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Identify the rules that you would follow while designing questions for a questionnaire.

A. Avoid ambiguous terms in questions.
B. Avoid long questions.

C. Ask some leading questions.

D. Avoid double-barrelled questions.

E. Avoid very specific questions.

Choose the correct answer from the options given below:

A.Band C only
.B.Cand D only
. A, Band D only
.B. C and E only
(1) 1
(2) 2
(3) 3
(4) 4

S i & §R 1 Faigu forTet fordt ugrasdt 8 94l 1 -1 99 319 UTe- Sl |

A vyl H ggarif uef S 7= |
B. dd 9yl 9 g9

C. TS T8I UHl I gu

D. Sqd-a¥d Wl I g1

E. 9gd faf1y vyl 9 s=-1

- feu g fow el 7 € e Sugad SR 1 90 HifeE:

1. HAd A, B3R C
2. $ad B, C 3R D
3. $dd A, B IR D
4. $adAB,C IRE

11
) 2
3) 3
(4) 4

i o

1[Option ID=25157] Question Description : general_paper_genarel paper_set 13_english_q15
2[Option ID=25158]
3[Option ID=25159]
4[Option ID=25160]
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The Shannon and Weaver mathematical model of communication was based on a linear system of:

1. Print communication
2. Electronic communication
3. New communication
4, Traditional communication
(1) 1
2) 2
3) 3
(4) 4

T4 3R diar nftrdta oo Feef Fgifed & @ foge! Y& voe! W enufid o 2

1. EU gER
2. SR AR
3, I HER
4. TRRATT TER
(1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=25161] Question Description : general_paper_genarel paper_set 13_english_q16
2[Option ID=25162]
3[Option ID=25163]
4[Option ID=25164]

Sl. No.17
QBID:13201017

Real time communication media are known as:

. Vertical media

. Asynchronous media
. Synchronous media

. Grapevine media

R T O

1 1
) 2
3) 3
(4) 4

frgd eIy Y9 ATH Sedld & -

1. JeaER H1H
2. HGIA® H1eIH
3. JHSIcID HIe0H
4. SHYATE T1H
1
(2) 2
(3) 3
(4) 4

1[Option ID=25165] Question Description : general_paper_genarel paper_set 13_english_q17
2[Option ID=25166]
3[Option ID=25167]
4[Option ID=25168]
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The simplified communication model created by Wilbur Schramm initially had the elements of :

A. An encoding source

B. A noise breaker

C. A noise marker

D. A message for transmission

E. A decoder to decode the message.

Choose the correct answer from the options given below:

A.B, Conly
.B.C,D only
.C.D, E only
.A,D.E only
(1) 1
2) 2
(3) 3
(4) 4

da L b
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1[Option ID=25169] Question Description : general_paper_genarel paper_set 13_english_q18
2[Option ID=25170]
3[Option ID=25171]
4[Option ID=25172]

Sl. No.19
QBID:13201019

Which of the following are referred to as net ideologists?

A. Harold Innis

B. Marshall McLuhan
C. Algore

D. Nicholas Negroponte
E. Manuel Castells

Choose the correct answer from the options given below:

A.B. Conly
.B. C. D only
.C.D, E only
.A.D.E only
1) 1
(2) 2
3) 3
(4) 4

frgifea o 9 g Te Ragiqare serama g
A Bl 5y

B. ARG Hade
C. AT

D. H& ey Audie
E i@ aew
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1[Option ID=25173] Question Description : general_paper_genarel paper_set 13_english_q19
2[Option ID=25174]
3[Option ID=25175]
4[Option ID=25176]

Sl. No.20
QBID:13201020

Given below are two statements:

Staterment-I: New communication media have made the privatization of public spaces possible.
Statement-IT: The above tendency has led to the emergence of cvber sphere in the world.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement [ and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

(1) 1
(2) 2
3) 3
(4) 4

GEEERIERC R
HYF 1 : U TR HI9H & HRUI GIdol-1d T BT oo S4d gl uang |
Y 11 : IS Wai P IRUTHEEY fay o e 87 SEgaH g3 ¢ |
SWRIT DY & Said H, - 3T 7Y fdw i § 3 961 SR &1 99 DI
1. BYA 1 3R 11 3 TE B
HYA SR I G Tad g
3. HYT 1 Hel 8. A HY= 11 7ad ol
4. DY 1T B, Wich DY 11 981 8

11
) 2
3) 3
(4) 4
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1[Option ID=25177] Question Description : general_paper_genarel paper_set 13_english_q20
2[Option ID=25178]
3[Option ID=25179]
4[Option ID=25180]
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A man lends out an amount of Rs.25,000 into two parts. The first part of the money is lent out at 8% simple
interest and the second part of the money is lent out at 8.5% simple interest. If total annual income of the man
18 R.2031.25, then find how much money is lent out at the rate of 8.5% ?

Rs. 9,000
Rs. 15,000
Rs. 18,750
Rs. 6,250

LD

(1) 1
(2) 2
3) 3
(4) 4




Pl fad 25,000 UL HI YR P <l B H IUR AT | &R & Ued fex Dl 8% P IR AT
B IR R IR YRR F IR TR B 8.5% S TYRUI TS P1 X R IR fGmonar € | o afdg =t
P dId 317 2031.25 TAU G dl 8.5% BI &2 U SR Al 741 ¢RI 1A DI |

. 9000 ¥UU
. 15000 %94
. 18750 %94
. 6250 ¥UU
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=25181]
2[Option ID=25182]
3[Option ID=25183]
4[Option ID=25184]

Question Description : general_paper_genarel paper_set 13_english_q21

Sl. No.22
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In a certain coded language the word MEDICINE is called as: EOJDJEFM. How the word COMPUTER will
be coded in the same coded language?

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
1
) 2
(3) 3
(4) 4

B T o

fep it Higd Boag

Y191 & MEDICINE &I EOIDJEFM & 30 8 $eaS [bal Sl § | 7§ COMPUTER

Vg B I UHR I HeaG HI o arcll U H H Heas (gl S ?

. RFVUNQPC
. RFUVQNPC
. CPNQVUFR
. CPQNUVFR
11
(2) 2
(3) 3
(4) 4

[

=L

1[Option ID=25185]
2[Option ID=25186]
3[Option ID=25187]
4[Option ID=25188]

Question Description : general_paper_genarel paper_set 13_english_q22

Sl. No.23
QBID:13201023

The sum of first n even natural numbers is 1560. Find the value of n.

B R
[ I O I I
oo D MDD o

(1) 1
(2) 2
(3) 3
(4) 4




TYUH 1 TH WG ae ATl &1 TIHd 1560 § | o 1 HF J1d ST |

1.41
2.39
.40
.38
11
) 2
3) 3
(4) 4

e VY

1[Option ID=25189] Question Description : general_paper_genarel paper_set 13_english_q23
2[Option ID=25190]
3[Option ID=25191]
4[Option ID=25192]

Sl. No.24
QBID:13201024

In a two digit number, if it is known that the digit at the unit's place in the number exceeds the digit at the ten's
place by 2 and that the product of the given number and the sum of the digits of the number is 280. Find the

number.

24
46
35
53

b B

= W

1) 1
(2) 2
3) 3
(4) 4

ol & 3@ B! S 1, I 6 T1d & 1 SPls & R B Gl agls U S I@dT 4 of 3@ § iRl
Tl ERET SR G S & Sidhl & TN I U 280 8, d1 a8 Sl J1d BT |

24
46
.35
53

Forka

:L‘.Ln

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=25193] Question Description : general_paper_genarel paper_set 13_english_q24
2[Option ID=25194]

3[Option ID=25195]
4[Option ID=25196]

Sl. No.25
QBID:13201025

Sum of the cost price of two articles A and B is Rs.26,000. Both the articles are sold at a profit of 20% and
40%, respectively. However, the selling price of the two articles remains the same. Find the difference in the

cost price of A and B.

Rs. 2,500
Rs. 2,000
Rs. 1,000
Rs. 3,000

R

1) 1
(2) 2
3) 3
(4) 4




&l aegsfl A 3R B & QNTd T BT A 26000 TUU 8 | HI G531 &1 PHRL: 20% 3R 40% & 1y W &4l
mag,mﬁﬁwﬁmﬁﬁwﬁm% | A 3R B & TN ged § 3R 1 [1d BT |

. 2500 YU
2000 39U
. 1000 YT
. 3000 YT
1) 1
) 2
(3) 3
4) a

L

1[Option ID=25197] Question Description : general_paper_genarel paper_set 13_english_q25
2[Option ID=25198]
3[Option ID=25199]
4[Option ID=25200]

Sl. No.26
QBID:13201026

An informal fallacy where something is assumed as a fact because the contrary of that is not yet proven to be
true is called:

. Begging the question
Appeal to Ignorance

. Complex Question

. Red Herring

1 1

(2) 2

3) 3

(4) 4

TS FTHING 3, ofet ot I &1 U 9 & 39 8 5111 911 & adife 391 [auiig o 9% I8! fie
Tel G &, S| &1 el Al § ?

SIHTHTAT

RSP gfad
. BAuH

4.¥s 8l (Red Herring)
(1) 1
(2) 2
3) 3
(4) 4

b =

e Taa

L

1[Option ID=25201] Question Description : general_paper_genarel paper_set 13_english_q26
2[Option ID=25202]
3[Option ID=25203]
4[Option ID=25204]

Sl. No.27
QBID:13201027

Which of the following propositions are logically equivalent?

A. Some men are arrogant human beings.

B. Some non-arrogant human beings are not non-men.
C. Some men are not non-arrogant human beings.

D. Some arrogant human beings are men.

Choose the most appropriate answer from the options given below:

.B and D only
A and C only
. A, Band C only
A, Cand D only

1) 1
(2) 2

B




(3) 3
(4) 4

fafarad § 9 S vl dfee 9 8§ 99de § 2

A 7T TG E |

?ﬁwwhwaﬁ%
c @Wﬁ?%ﬂv‘rﬁ TR |
D. D% PRI AT BUE |

4 fau e faeedl # ¥ gad Iugad SR &1 99 Bifoie:

1.%Hdd B AR D
2. FaAA3MRC
3. PAAA, B AR C
4. HATA, C ARD

1) 1

@ 2

3) 3

(4) 4

1[Option ID=25205] Question Description : general_paper_genarel paper_set 13_english_q27
2[Option ID=25206]
3[Option ID=25207]
4[Option ID=25208]

Sl. No.28
QBID:13201028

If the statement 'some cricketers are fast bowlers' is given as false then which of the following statements
could be immediately inferred to be false?

All ericketers are fast bowlers.

No cricketers are fast bowlers.

Some cricketers are not fast bowlers.

Some non-fast bowlers are not non-cricketers.

R

(1) 1
(2) 2
(3) 3
(4) 4

I ST HY - T fbdpe ATt A Tea & &1 Tad & =9 § femn mar § O FafefEa 3 3 fa wue
& TAd G DI dleb1ieie U 4 A a1 o 9l § 2

1. g1ff fpahe faarst 9o Tigai @ |
2. 315 off fpdpe st oo Heaw 7l © |
3. P b fAAS] 09 figaa 51 § |
4, PT IR-A Tear IR-hde A 781 & |
1) 1
) 2
3) 3
(4) 4

1[Option ID=25209] Question Description : general_paper_genarel paper_set 13_english_q28
2[Option ID=25210]
3[Option ID=25211]
4[Option ID=25212]

Sl. No.29
QBID:13201029




Which of the following statements are so related that they cannot both be true, although both may be false?

A. All sports persons are athletes.

B. No sports persons are athletes.

C. Some sports persons are athletes.

D. Some sports persons are not athletes.

Choose the most appropriate answer from the options given below:

.Aand B only
. Cand D only
.Aand D only
. B and C only
1 1
2) 2
(3) 3
(4) 4

fFofafad ¥ 9 o T Sy 59 0e Iafid ¢ {6 3 2F1 9ol 761 81 9%d, gaid =i 7od 8l IPd & 2

A i faars! vydiica § |

B. @i it faaet vydiic 781 ¢ |
. o faamst tudie § |

D. $© faars! tydie 781 § |

= feu e faoodl & 9 99 Sugad SR S 999 ST

B

1[Option ID=25213] Question Description : general_paper_genarel paper_set 13_english_q29
2[Option ID=25214]
3[Option ID=25215]
4[Option ID=25216]

Sl. No.30
QBID:13201030

According to classical Indian school of logic (Nyaya) which of the following steps of inference (anumana)
corresponds to Upanaya (application of the universal concomitance to the presented case)?

1. Socrates is mortal.
2. Because he i3 a man.
3. Whoever is a man is a mortal, e.g. Plato.
4. Socrates iz a man who is invariably a mortal.
1) 1
(2) 2
3) 3
(4) 4

YR YA TR 0 (M) & HHR FHH &1 HafiEd ¥ 3 =41 =0 3UT (W (67 1Y
T & Ui SoyIHS Fgafid &1 ST & 98 2

1. GBI AT |

2. i a8 A9 § |

3. 51 PIg HI H90 B, 98 1R . O - Wil |

4. gHId U 099§, ol FRUAIG SO ARG |
1) 1
2 2




(3) 3
(4) 4

1[Option ID=25217] Question Description : general_paper_genarel paper_set 13_english_q30
2[Option ID=25218]
3[Option ID=25219]
4[Option ID=25220]

Sl. No.31
QBID:13201031

In ICT. which one of the following pairs of acronyms and its expansion is incompatible?

.csv - Comma Separated Variables
1tf - Rich Text Format

.pdf - Portable Document Format

png - Portable Network Graphics

B R

1 1
) 2
3) 3
(4) 4

St Frofefad # 9 oiH-a7 ufkaul 3R SU% TR &1 gm sRimd & 2

csv - DBIH YIS dRUEE
1tf - A 2o BRae

a . VRN
pdf - Jicqd STagHe BIRHT

.png-mwm

da L b2

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=25221] Question Description : general_paper_genarel paper_set 13_english_q31
2[Option ID=25222]

3[Option ID=25223]
4[Option ID=25224]

Sl. No.32
QBID:13201032

Identify the correct order of the words A-D given below to complete the following sentences about College
Registration Systems: 1s a type of registration system that uses finger prints or retina scans to register
students. A type of registration that uses a form that has been completed with a pencil and is then scanned by a
machine after being completed is called registration. A tag that uses microchips and radio signals worn
by all students that registers them when they enter the classroom is called registration. are made
of plastic and contain a chip that can be swiped through a machine to register the student.

A. Smart Cards
B. OMR

C. Biometric
D.RFID

Choose the correct answer from the options given below:
1LA,B.D.C
5

.B.C,
DA,
.C,B,

0N e

D
.B
A

e VT

(1) 1
(2) 2
(3) 3
(4) 4




Heldeer-Yeiiad Yol & aR & FafiRad &y @e) ®1 9ol &34 gq 414 13U 7T 5] A-D & Tel
Y B UgA ;

Ui YT &1 U6 WK § ol [aenfial & gofte §q SRIfesTal et e w6 o &1 wanT
Rl © | Uolig 1 US UHR S Ud U BTH &1 39 (501 Sl § o7 Uie 9 9_1 WRI 7™ 8ldl o
SR Ul R O & 918 A9 gRI WA [PaT ol g a1 a8 ol dednd ¢ | U@ o fores i

TT GRT 41T ATghifeT SR ISai faud & UaiT ¥ 9% Ueiig- gidl & old d ®al § Uap 8id &,
T8 Ul dodidic | @IRe® B &1 ol © forad U fag STelt 141 gl § SR ot
faemdt & Usiioe gq o=l & T1e9d ¥ Wigy a1 o 9$di § |

A FE BIS

B. 3THMR
c. 9[EleH
D. IRTHAS Sl

= fou U fasedl © 9§ T61 IR o1 98- Hifere:

W nw
n»o
=l v Hw le)

el Sl
Nowp

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=25225] Question Description : general_paper_genarel paper_set 13_english_q32
2[Option ID=25226]

3[Option ID=25227]
4[Option ID=25228]

Sl. No.33
QBID:13201033

Given below are two statements: (1 KB = 1024 bytes)

Statement-I: 0.2 terabytes (TB) is equal to 204.8 gigabytes (GB)

Statement-II: 1 petabyte (PB) is equal to 2°° bits.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I 1s false but Statement II is true.

1)1
(2) 2
(3) 3
(4) 4

e




19 €1 $Y AU Y §: (1 KB = 1024 SI5cH)
YT : 0.2 TIEISE (SIaT), 204.8 THMETSE (Sie) & RER B 6 |
FYTII : 1 Uerarse (diah), 25 feeq & Rar garg |
SR HUA & Hdld |, 41d 30 MU [ddwedl & I Tl IuR &l 904 Sl
1. HYA T 3R 11 3 9 g
2. HYF 1 3R 11 GHT S
3. HYT 1 9d g, Al BY 11 AT 5

4. YT AT 8, Al FUT 1 FA 8
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25229] Question Description : general_paper_genarel paper_set 13_english_q33
2[Option ID=25230]

3[Option ID=25231]
4[Option ID=25232]

Sl. No.34
QBID:13201034

Which of the following statements are true?

A. WWW is a collection of multimedia web pages stored on a website.
B. URLs specify the location of all web pages.
C. Web resources are accessed by Windows Operating System.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. A Band C

1) 1

(2) 2

(3) 3

(4) 4

fFafaiEd H-3 YT HE € 2

A Www 5t deage W 9ufgd Aecitiiear 3§ Uoll &1 U6 998 & |
B. URL 9+ 39 Usil o1 sraffufa & fafifey sxare |
C. fdei SfRfeT e Y g TUA W BIa € |

- feu g fawedl 7 € a9 Sugad SR 1 90 HifeE:

1. %ad A 3R B
FadARC
HadB R C
4.A.B3RC
1 1
() 2
(3) 3
(4) 4

LFVRR B

1[Option ID=25233] Question Description : general_paper_genarel paper_set 13_english_q34
2[Option ID=25234]
3[Option ID=25235]
4[Option ID=25236]
|




Sl. No.35
QBID:13201035

Match List I with List IT

LISTI

(Storage Device or LIS'—F I_[
Media) (Description)

Non-volatile memory that can only be read
from and not written to

Optical storage media that allows very high
B_| 85D IT [storage capacity by using blue/violet lazer
technology.

Volatile memory that stores data, programs, and
C_|ROM III. [the parts of the operating system that are
currently in use.

A | Blue-ray disc jH

Device that stores data by controlling the
D |RAM IV, jmovement of electrons within a microchip; there
are no moving parts.

Choose the correct answer from the options given below:

AL B-IV, C-II, D-III
A-III, B-1, C-IV, D-II
A-IVB-ILC-I, D-ITI

A-II, B-IV, C-1, D-III

b =

e L

1) 1
(2) 2
3) 3
(4) 4

el 1 Q1Y g1 11 B BT B -

ST
MR- HAR] ford dae Ugl ol

A I TEw L [l g R 34 R o 187 o
[ |
UHIRID HSRUI (3P dd [Sdi5H)
HIEH ¥ &) dRIciE ToR ddicb]
T U e Sgd SHTU® HSR
&HdT UTtd &l STl g |
R AR Sl gdqH H W
C. ROM I11. [STeT, Ui 3R oRieT e &
HIT BT HSRU B & |
dE Tiad Sff fbdll Agie fsad
e o [PTE S @rfian) fewan F6 &ld

== ' [6. 3 SciagHl @1 71fa & FafEa
@3d §U SIE] &1 T8 Pl & |

= fou 0 fawedl | ¥ gl 3R &1 994 Sifeiu

. A-I, B-IV, C-II, D-IIT
. A1, B-I, C-IV, D-II
. A-IV, B-II, C-I, D-III
. AL, B-IV, C-I, D-III
11
(2) 2
(3) 3
(4) 4

B. |SSD II.

b —

e s

1[Option ID=25237] Question Description : general_paper_genarel paper_set 13_english_q35
2[Option ID=25238]
3[Option ID=25239]
4[Option ID=25240]




Sl. No.36
QBID:13201036

How many national missions are there in the National Action Plan on climate change?

R
MDD ] O

1) 1
(2) 2
(3) 3
(4) 4

SRy URad Sa et AP SR die ¥ fead g iR g

s e
MO @0 0 O

(1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=25241] Question Description : general_paper_genarel paper_set 13_english_q36
2[Option ID=25242]

3[Option ID=25243]
4[Option ID=25244]

Sl. No.37
QBID:13201037

Given below are two statements:

Statement-I: Hydro chlorofluorocarbons (HCFCs) were introduced as ozone-safe replacement for
chlorofluorocarbons (CFCs)

Statement-IT: Hydro chlorofluorocarbons (HCFCs) do not contribute to green house warming.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II 1s incorrect.
. Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

4 Sy feumu §:

FYT 1 : SRS IFARIRRIBTE! (TIHUEH) B FARIGRIBTSH! (FUHH & ol Tad Hioigs] &
U T UK far o |

O

FYF 1 : TS5 FARIKRIPIa (TIHIUH) UISY-1g d19- § S¥eH g1 & ¢ |
SIRITT HYU & 3HTeilep H, 1= fGu Y f[deeul & 4 969 Iugad SR &1 99 HIeIU:
1. FYF 1 3R 11 5T et €1
2. PYA 3R 11 3 TTad &
3. BYT 1 Te! 8. Afdp- HU 11 7T1ad 8l
4. YT 17T0d &, Al DY 11 Tl 8

11




(2) 2

3) 3

(4) 4

1[Option ID=25245] Question Description : general_paper_genarel paper_set 13_english_q37
2[Option ID=25246]

3[Option ID=25247]
4[Option ID=25248]

Sl. No.38
QBID:13201038

Which of the following play a role during formation of photochemical smog?

A. NO, (Nitrogen dioxide)

B. Black Carbon

C. Sun light

D. VOCs (Volatile Organic Compounds)
E. CO (Carbon monoxide)

Choose the correct answer from the options given below:

A, B and C only
A, Cand D only
.A.Dand E only
.B.C,Dand E only
1) 1

() 2

3) 3

(4) 4

BT D YH DIex & &=+ 3 F9 T H foa! UHP1 il § 2

A.NO, (FITSCISH STgHTHES)
B. &1 Pl
C. i &1 uS

D. VOCs (QI9=Nd 9ia i)

E. CO (PTa- THIHTHES)
1= fqu T faeedl & € Ggl 3R &1 9+ Sifoiw:

1. HATA, B AR C
2. HATA, C 3IRD
3. PAd A, D ARE
4. $GAB,C, D 3RE

1

() 2

@) 3

(4) 4

1[Option ID=25249] Question Description : general_paper_genarel paper_set 13_english_q38
2[Option ID=25250]
3[Option ID=25251]
4[Option ID=25252]

Sl. No.39
QBID:13201039

In which of the following types of electricity power plants, turbines are not required?

. Geothermal
. Nuclear

. Hydro

. Solar

(1) 1

(2) 2

(3) 3

(4) 4

i T b




Fafafad O ¥ 59 yoR & [degd Soll 9041 ¥ cralgl &1 siawaddl 76l sl 6 2
1. Ydrdig
BURCH B

g ko

. oldl
1. 9%
(1) 1
) 2
(3) 3
(4) 4

s

1[Option ID=25253] Question Description : general_paper_genarel paper_set 13_english_q39
2[Option ID=25254]
3[Option ID=25255]
4[Option ID=25256]

Sl. No.40
QBID:13201040

Given below are two statements: one is labelled Assertion A and other is labelled as Reason R.

Assertion-A : Rise in water temperature from normal levels, due to thermal pollution, can adversely affect
water quality and aquatic life.

Reason-R : Oxygen solubility in water increases as temperature increases.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is NOT the correct explanation of A.
3. A is correct but R is not correct.
4. A is not correet but R is correct.

1) 1

(2) 2

3) 3

(4) 4

9 3 FY= [T U & U MDY (Assertion A) T T 1 R8T © 1 GHRT 39S PRI (Reason R) &
Fq U

b =

SfHGYH A AT HENUI S DRV STA & AT BT GHID &R Y 961 5dl H1 [Ural R Sty sia
R yfdpd THTa ST IHhal ¢ |

FRUIR : d99H H fg & I oa § efiefioq & gaaiaar 3 gfS gt @ |
SWRIGd B & e H, =i f3u U fdeedl § ¥ 99 Sugdd 9wk &1 99 BT |

. A IR R & T8 € SR R, AT TS R B
AR REHI TE €, AT R, A T TS AT TSI B
. A9El g Afd R 98T 7T B

4 AT T e AR TSI B

1 1
) 2
(3) 3
(4) 4

[

LF¥]

1[Option ID=25257] Question Description : general_paper_genarel paper_set 13_english_q40
2[Option ID=25258]
3[Option ID=25259]
4[Option ID=25260]

Sl. No.41
QBID:13201041




University of Mithila was famous for

A Astronomy

B. Nyaya Sutra

C. Archacology

D. Logical sciences
E. Medicine

Choose the most appropriate answer from the options given below:

.Aand B only
.B and D only
.Aand C only
.D and E only
(1) 1
(2) 2
(3) 3
(4) 4

ferfarer faufaemea fead fag ufdie ur 2

A. @7 fagm

B.Wm
C. XA -
THIRE

D.
E. HTGfasH
- feu g fow el 7 € e Sugad SR 1 90 HifeE:

1. %ad A 3R B
2. Had B 3R D
3. Pad A AR C
4.$aAD ARE

1 1

) 2

@3) 3

(4) 4

[N PV N

1[Option ID=25261] Question Description : general_paper_genarel paper_set 13_english_q41
2[Option ID=25262]
3[Option ID=25263]
4[Option ID=25264]

Sl. No.42
QBID:13201042
By . all Higher Education Institutions (HEIs) shall aim to become multidisciplinary institutions and

shall aim to have larger student enrolments as per NEP 2020, recommendations.

Bk
h O O Lh

1) 1
(2) 2
(3) 3
(4) 4

ST 121 A, 2020 T 1 71g Sl & AR dF Tyt =R e el (Tas ) &1 a6
g (! Gxur o gRoid §1F1 8 auT f[9eiial & amie ¥ 9gd Sifts gis o3 e |

2035
2030
2040
. 2025

(1) 1

o ke

= W




(2) 2

3) 3

(4) 4

1[Option ID=25265] Question Description : general_paper_genarel paper_set 13_english_q42
2[Option ID=25266]

3[Option ID=25267]
4[Option ID=25268]

Sl. No.43
QBID:13201043

In 1904, who was the moving force behind the enactment of the Indian Universities Act which intended to introduce radical
changes into some of the existing universities in colonial India ?

1. Lord Canning
2. Lord Mountbatten
3. Lord Curzon
4. Lord Linlithgow
1 1
2) 2
(3) 3
(4) 4

ay 1004 § YR« fayfaermem sffan & sftfggs § fFaifed 0 3 o ge IR o forgeT smem
HIIFaRs YRd & $o faemm fayfaemedl  siege uRad- Je-=RIMTd S o7 2

1, A BT
2. @IS Hideded
3. 1S B
4. @re feiferm
1 1
) 2
3) 3
(4) 4

1[Option ID=25269] Question Description : general_paper_genarel paper_set 13_english_q43
2[Option ID=25270]
3[Option ID=25271]
4[Option ID=25272]

Sl. No.44
QBID:13201044

One of the regional centers of UGC is situated in which of the following states?

. Punjab

. Rajasthan
. Orissa

. Assam
(1) 1

(2) 2

(3) 3

(4) 4

fayfaee SMaM M o1 U@ &g o= Faifeaf apurm d fRa e o

EEIC]
TSR
SRR
&

B

O

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25273] Question Description : general_paper_genarel paper_set 13_english_q44
2[Option ID=25274]




3[Option ID=25275]
4[Option ID=25276]

Sl. No.45
QBID:13201045

In 1937, Gandhiji evolved a scheme popularly known as the Wardha Scheme of Basic National Education. In
order to implement the recommendation of Wardha Scheme, a committee was set up under the Chairmanship

of:

. M.K. Gandhi
.B.G. Kher

. Zakir Hussain
A K. Azad
(1) 1

(2) 2

3) 3

(4) 4

Ty 1037 T ST 7 Te Wi [doiaa 31 of 94 W1 5 §R® 130 (e e- & A1 4 [T © |
gyl Wi ot xgfadl & saitaad g Faifed 4 9 feue! siorear § ue 9ifd 1fea &1 s o4t 2

1. TH. &, Tl
2.9 oL W
3. SR g
4. Q. . 3ollg

1) 1

() 2

(3) 3

(4) 4

da L3 b

1[Option ID=25277] Question Description : general_paper_genarel paper_set 13_english_q45
2[Option ID=25278]
3[Option ID=25279]
4[Option ID=25280]

Sl. No.46
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful. most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

frafafad e o ufgd ik Uy &1 3R 2ifor |
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The most appropriate title for the passage is:

. State of the indigenous world

. Biodiversity conservation measures

. Indigenous people and world's biodiversity
. Empowerment of indigenous people.

(1) 1

(2) 2

(3) 3

(4) 4

S T FT Haled 39gad e ¢ :

B R

1. SIS OFTd B Saxl
2. g fafgedr 9em & 3u™
3. WMo 3R afiy® oig fafgeran
4. Wi P IRl
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25281] Question Description : general_paper_genarel paper_set 13_english_q46
2[Option ID=25282]




3[Option ID=25283]
4[Option ID=25284]

Sl. No.47
QBID:13201047

Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinct from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, diseriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

fgfafad Teiw & ufed ik Uy &1 3T ifor |
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Given below are two statements:

Statement-I: Majority of indigenous cultures are confined to a very few countries of the world.
Statement-IT: Majority of world population consists of indigenous people.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false
4, Statement I is false but Statement II is true

(1) 1

(2) 2

(3) 3

(4) 4




TR A FyE Ry

FYF1; S50 Ul WaZl HD gl (94 & FoD o db ol AMa o |

HY 11 : oy Bt aifiieie oriem W a3 g |

SRIF DY & ATadid H, Al (U T fdeedl & I "5l 3R &1 90 iU
1. HYA 1 SR G T g
2. Y1 IR I A 3T B

3. BYT 1 T §, AP HYT 11 ST B

4. YT 1 ATI , Aldpd BYT 11 FA B
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=25285] Question Description : general_paper_genarel paper_set 13_english_q47
2[Option ID=25286]

3[Option ID=25287]
4[Option ID=25288]

Sl. No.48
QBID:13201048 _
Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Indigenous people live in harmony with nature.

Reason R: Biodiversity tends to thrive at places where indigenous cultures thrive.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.
. A is correct but R is not correct.

. A is not correct but R is correct.

(1) 1

(2) 2

3) 3

(4) 4

9 &1 %Y [T U §: U @Y (Assertion A) & =0 H [i1RGd g T GHRI 3HP BRUI (Reason R) &
IUT:

ko =

e L

BT A : SIS TN @I & T HIgTe SAPRIEA § |

HRUIR : o RIFT T S SXpiaai Badl-Hadi ¢ gl old [dfaydl & §d §¢- (I79) B FHTE 5l
gl

SR $YH & alie 4, 744U T faeedl & 3 walfie Sugad SR &1 994 Sife |

A IRRIATTUE SRR ADI IS TRAT

. A MR R EH A€, Afh R, A S Ig! e 1ol ¢
 ATI T AfFIR ST

A FTI g AGIR I B

1

2 2

@) 3
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1[Option ID=25289] Question Description : general_paper_genarel paper_set 13_english_q48
2[Option ID=25290]
3[Option ID=25291]
4[Option ID=25292]

Sl. No.49
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Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful. most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language. culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6,000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die. so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly, just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.

frafafad e o ufgd ik Uy &1 3R 2ifor |

TG AR e gH 3= 8 oo ard a1 Wi 9 wmraan foy 3 9ed 1 gmviar, vaifts suiéa
TUE © | WSS = U Widaed aryd & Hariial gR1 sidufed e g7 & go Hafdl & dew
O T I P UT, Tpial, o SR %ch Tgardl 9 i § | fay &1 a1 6000 TRIAT U il
T 5000 TXHTTT WM € ol (9 B Pl SIHGBAT B TRTHT 10 HIa=Td & | 9gd © =11 H, TNIRFTd Siifd-
T, DgTagut fafirat, siftfet o1 qatae @ wexfior! &1 emA 5Ian § | 3@ [y Sepfoni qa sl §
3R 3% TIY-T1Y WS SHae »H & =0 H oia fafaudr 79 g 381 € aifes sielivfiea srma & dwrest
1 Ti7 BT QR fh a1 I 9 | IO fay & U1 Spid &1 ool 3 9UId B & SR YRGS Stggiat
HR off fasd=r g1 ot 8

fa% 1 6000 fafRIw yTIaf & 9 S0 § HH el U G 81361 § Fifd ofd gl Bl b1 & gl
fora aTa § | 94 sifon pove goor o st ot 51y § e € S9! O 51 e a1 59t o d-
Txpicl &1 1T 37 1 S | 31 G&piadl & U g4 & HIY-H1Y UPid & SR T J- &1 T d faga
18R 3R te faf2y yafexur ud shiga=ie &1 e 90z o gard e ot | ifief se quug e &
g &t wl yrreii 8 § 60 wio=rd U 12 <201 H yged gidl © | 59 9 91d <% T fafdedr ara
SN § STg! THX [afRIp UTey Ud Sl 3T o8 9§ iftie yefadl § | 9ga 9 fafiy yeifadl & sHgd
Sefam FruieRt aRkiRifda aar 3u 3§ faydargf amd T & e 5 1 geme wdid erdt 8
|

Which among the following inferences can be drawn from the passage?

A. Indigenous people in rich countries are generally neglected and their voices remain unheard.
B. Native people in the poor countries are quite powerful.

C. Most of the world population belongs to indigenous cultures.

D. Indigenous people possess unique cultures

E. Indigenous cultures are facing a threat from western culture.

Choose the most appropriate answer from the options given below:

1.A,B,C,Dand E
2.A.C.Dand E only
3.A,Dand E only
4.B.C,D and E only

1) 1

) 2

(3) 3

(4) 4
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1[Option ID=25293] Question Description : general_paper_genarel paper_set 13_english_q49
2[Option ID=25294]
3[Option ID=25295]
4[Option ID=25296]

SI. No.50
QBID:13201050 _
Read the following passage and answer the question.

In both rich and poor countries, native or indigenous people are generally the least powerful, most neglected
groups in the world. Typically descendants of the original inhabitants of an area taken over by more powerful
outsiders, they are distinet from their country's dominant language, culture, religion, and racial communities.
Of the world's nearly 6.000 recognized cultures, 5,000 are indigenous ones that account for only about 10
percent of the total world population. In many countries, traditional caste systems, discriminatory laws,
economics, or prejudice repress indigenous people. Their unique cultures are disappearing, along with
biological diversity as natural habitats are destroyed to satisfy industrialized world appetites for resources.
Traditional ways of life are disrupted further by dominant Western culture sweeping around the globe.

At least half of the world's 6.000 distinct languages are dying because they are no longer taught to children.
When the last few elders who still speak the language die, so will the culture that was its origin. Lost with
those cultures will be a rich repertoire of knowledge about nature and a keen understanding of a particular
environment and way of life. Interestingly. just 12 countries account for 60 percent of all human languages.
seven of these are also among the "mega diversity" countries that contain more than half of all unique plant
and animal species. Conditions that support evolution of many unique species seem to favour development of
equally diverse human cultures as well.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:
Assertion-A : Western culture supports indigenous people and their traditional ways of life.

Reason R: Indigenous people possess ecological wisdom about their natural habitat.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A s correct but R is not correct.
4. A is not correct but R is correct.
(1) 1
(2) 2
3) 3
(4) 4

9 &1 %Y [T U §: U @Y (Assertion A) & =0 H [i1RGd g T GHRI 3HP BRUI (Reason R) &
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1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25297] Question Description : general_paper_genarel paper_set 13_english_q50
2[Option ID=25298]
3[Option ID=25299]
4[Option ID=25300]

Paper II : 40-Spanish

Sl. No.1
QBID:140001

La parte de la lingiiistica que estudia el lenguaje en su relacion con los usuarios y las circunstancias de la
comunicacion es:

. Pragmaética
. Gramatica
. Seméantica
. Lenguaje

o =

e Taa

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=23901] Question Description : spanish_spanish_set 1_spanish_q1
2[Option ID=23902]

3[Option ID=23903]
4[Option ID=23904]

Sl. No.2
QBID:140002




Cuando cumplid el afio y medio en comer sola.

1. decidio
2. quiso
3. se empefio

4, desed
(1) 1
2) 2
3) 3
(4) 4
1[Option ID=23905] Question Description : spanish_spanish_set 1_spanish_q2
2[Option ID=23906]

3[Option ID=23907]
4[Option ID=23908]

Sl. No.3
QBID:140003

Sustituya la palabra subrayada:
Siempre me siento abrumado cuando llega la temporada de verano.

. deprimido
. estimulado
. agobiado

. relajado
1) 1

(2) 2

3) 3

(4) 4

e

1[Option ID=23909] Question Description : spanish_spanish_set 1_spanish_q3
2[Option ID=23910]
3[Option ID=23911]
4[Option ID=23912]

Sl. No.4
QBID:140004

Sustituya la palabra subrayada:
El guia del parque natural siguid a rajatabla la ruta establecida.

. segln el horario previsto
. de forma rigurosa

. 8 su aire

. a gusto

b =

e Taa

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=23913] Question Description : spanish_spanish_set 1_spanish_q4
2[Option ID=23914]

3[Option ID=23915]
4[Option ID=23916]

Sl. No.5
QBID:140005

Sustituya la palabra subrayada:
-Mira, estos tomates parecen de pata negra.

1. de excelente calidad
2. muy maduros
3. de una clase diferente
4, no comestibles

(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=23917] Question Description : spanish_spanish_set 1_spanish_q5
2[Option ID=23918]
3[Option ID=23919]
4[Option ID=23920]

Sl. No.6
QBID:140006

La carrera para empezar, asi que callate.

es

. esta
fue
. esté
(1) 1
) 2
3) 3
4) 4

b

o

1[Option ID=23921] Question Description : spanish_spanish_set 1_spanish_q6
2[Option ID=23922]
3[Option ID=23923]
4[Option ID=23924]

Sl. No.7
QBID:140007

Aquel perro tenia una mirada simpatica. Era quisiera decirme algo.

. como i

. por si

. claro que si
. doy por si

ba =

e L

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=23925] Question Description : spanish_spanish_set 1_spanish_q7
2[Option ID=23926]

3[Option ID=23927]
4[Option ID=23928]

Sl. No.8
QBID:140008

No basta se reduzean las capturas. Es necesaria una veda total preservar la especie.

. de que

. para que
. con que
. por que

ba =

Lo

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=23929] Question Description : spanish_spanish_set 1_spanish_q8
2[Option ID=23930]

3[Option ID=23931]
4[Option ID=23932]

Sl. No.9
QBID:140009

La frase “Si para la noche no hubiere llegado. llamaremos a la policia™ es un ejemplo del:

. Pretérito pluscuamperfecto de subjuntivo
. Futuro perfecto de subjuntivo

. Presente de subjuntivo

. Pretérito perfecto de subjuntivo

ba =

L

11




(2) 2

(3) 3

(4) 4

1[Option ID=23933] Question Description : spanish_spanish_set 1_spanish_q9
2[Option ID=23934]

3[Option ID=23935]
4[Option ID=23936]

Sl. No.10
QBID:140010

La traduccidn intersemidtica es traduccidn:

. entre dos lenguas

. dentro de la misma lengua
. entre tres lenguas

. sin lenguaje

b2 =

e L

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=23937] Question Description : spanish_spanish_set 1_spanish_q10
2[Option ID=23938]

3[Option ID=23939]
4[Option ID=23940]

Sl. No.11
QBID:140011

La pelicula hindi "Rukmavati ki Haveli” es la adaptacion de la siguiente picza teatral espafiola:

. La vida es suefio

. El retablo de las maravillas
. La casa de Bernarda Alba

. Bodas de sangre

ko =

e L

(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=23941] Question Description : spanish_spanish_set 1_spanish_q11
2[Option ID=23942]

3[Option ID=23943]
4[Option ID=23944]

Sl. No.12
QBID:140012

El personaje arquetipico de Don Juan de la literatura espafiola es creado por:

. Miguel de Cervantes
. Miguel Delibes

. Tirso de Molina

. Fernando de Rojas
1) 1

(2) 2

(3) 3

(4) 4

R

1[Option ID=23945] Question Description : spanish_spanish_set 1_spanish_q12
2[Option ID=23946]
3[Option ID=23947]
4[Option ID=23948]

Sl. No.13
QBID:140013

El siguiente es un poeta contemporineo de Espafia:

. Federico Garcia Lorea

. Luis Alberto de Cuenca
. Nicanor Parra

. Juanes

A




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=23949] Question Description : spanish_spanish_set 1_spanish_q13
2[Option ID=23950]

3[Option ID=23951]
4[Option ID=23952]

Sl. No.14
QBID:140014

“La dama boba” es la obra del siguiente dramaturgo:

. Lope de Vega
. Quevedo

. Géngora

. Cervantes
(1) 1

(2) 2

(3) 3

(4) 4

B R

1[Option ID=23953] Question Description : spanish_spanish_set 1_spanish_q14
2[Option ID=23954]
3[Option ID=23955]
4[Option ID=23956]

Sl. No.15
QBID:140015

El Museo Guggenheim se sitia en:

1. Barcelona

2. Bilbao

3. Madrid

4. Alicante

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=23957] Question Description : spanish_spanish_set 1_spanish_q15
2[Option ID=23958]

3[Option ID=23959]
4[Option ID=23960]

Sl. No.16
QBID:140016

Espafia y Portugal habian pactado el reparto del Nuevo Mundo mediante la firma de:

. Las Capitulaciones de Santa Fe

. El Acuerdo de las Indias Occidentales
. El Tratado de Lisboa

. El Tratado de Tordesillas

1) 1
(2) 2
(3) 3
(4) 4

ba =

e L

1[Option ID=23961] Question Description : spanish_spanish_set 1_spanish_q16
2[Option ID=23962]
3[Option ID=23963]
4[Option ID=23964]

Sl. No.17
QBID:140017

La pelicula Madres Paralelas es dirigida por:

. Carlos Saura

. Alejandro Amenabar
. Luis Bufiuel

. Pedro Almodévar

ba =

e L




(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=23965] Question Description : spanish_spanish_set 1_spanish_q17
2[Option ID=23966]

3[Option ID=23967]
4[Option ID=23968]

Sl. No.18
QBID:140018

;Cual de los siguientes grupos fue el altimo quien llegd a Espafia?

. Los visigodos

. Los romanos

. Los musulmanes
. Los cartagineses
1) 1

(2) 2

3) 3

(4) 4

B

1[Option ID=23969] Question Description : spanish_spanish_set 1_spanish_q18
2[Option ID=23970]
3[Option ID=23971]
4[Option ID=23972]

Sl. No.19
QBID:140019

El siguiente es la figura mas representativa de la Movida Madrilefia:

. Jorge Luis Borges
. Pedro Almodovar
3. Carlos Saura
4. Javier Bardem

(1) 1

(2) 2

(3) 3

(4) 4

ba =

1[Option ID=23973] Question Description : spanish_spanish_set 1_spanish_q19
2[Option ID=23974]
3[Option ID=23975]
4[Option ID=23976]

Sl. No.20
QBID:140020

El primer Presidente del gobierno de Espafia demoeratica fue:

. Felipe Gonzilez

. Adolfo Suarez

. Luis Carrero Blanco

. Leopoldo Calvo Sotelo

ba =

e T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=23977] Question Description : spanish_spanish_set 1_spanish_q20
2[Option ID=23978]

3[Option ID=23979]
4[Option ID=23980]

Sl. No.21
QBID:140021




La Primera Repiiblica espafiola fue proclamado en

L1873
. 1978
1492
.1931
(1 1
(2 2
(3) 3
(4) 4

o =

e L

1[Option ID=23981] Question Description : spanish_spanish_set 1_spanish_q21
2[Option ID=23982]
3[Option ID=23983]
4[Option ID=23984]

Sl. No.22
QBID:140022

El cuadro “Vieja friendo huevos™ fue pintado por

. Salvador Dali

. Pablo Picasso

3. Diego Velazquez
4. Francisco de Goya
1) 1

(2) 2

3) 3

(4) 4

o =

1[Option ID=23985] Question Description : spanish_spanish_set 1_spanish_q22
2[Option ID=23986]
3[Option ID=23987]
4[Option ID=23988]

Sl. No.23
QBID:140023

Francisco de Goya fue un pintor de la época de

1. la edad media
2. romanticismo
3. surrealismo
4. renacimiento

(1) 1

(2) 2

3) 3

4) 4

1[Option ID=23989] Question Description : spanish_spanish_set 1_spanish_q23
2[Option ID=23990]
3[Option ID=23991]
4[Option ID=23992]

Sl. No.24
QBID:140024

El autor de la Brevisima Relacion de la Destruccion de las Indias es

. Francisco de Vitoria

. Ginés de Sepulveda

. Bartolomé de las Casas
. Vasco Quiroga

b

e Lo

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=23993] Question Description : spanish_spanish_set 1_spanish_q24

2[Option ID=23994]
3[Option ID=23995]

4[Option ID=23996]




Sl. No.25
QBID:140025
Los intelectuales espafioles: Gaspar Jovellanos, Gregorio Mayans, Jeronimo Feijoo forman parte de:

. El siglo de Barroco

. El siglo de las Luces
. El modernismo

. La epoca medieval

A T e

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=23997] Question Description : spanish_spanish_set 1_spanish_q25
2[Option ID=23998]

3[Option ID=23999]
4[Option ID=24000]

Sl. No.26
QBID:140026

Los estudios de frontera encuentran su exponente principal en

. Magdalena Perkowska
. Gloria Anzaldua

3. Barbara Jacobs

4, Inés Arredondo

1) 1
(2) 2
3) 3
(4) 4

ba =

1[Option ID=24001] Question Description : spanish_spanish_set 1_spanish_q26
2[Option ID=24002]
3[Option ID=24003]
4[Option ID=24004]

Sl. No.27
QBID:140027
Uno de los artistas a continuacion escribe textos experimentales (mezela de performance y literatura)

. Rémulo Gallegos

. Josefina Baez

. Cirilio Villaverde

. Almudena Grandes
(1) 1

(2) 2

(3) 3

(4) 4

ba =

e L

1[Option ID=24005] Question Description : spanish_spanish_set 1_spanish_q27
2[Option ID=24006]
3[Option ID=24007]
4[Option ID=24008]

Sl. No.28
QBID:140028

La literatura detectivesca forma parte del repertorio de

. Joaquin Lizardi

. Domingo Faustino Sarmiento
3. Paco Ignacio Taibo
4. Andrés Bello

(1) 1

) 2

3) 3

(4) 4

b

1[Option ID=24009] Question Description : spanish_spanish_set 1_spanish_q28
2[Option ID=24010]




3[Option ID=24011]
4[Option ID=24012]

Sl. No.29
QBID:140029

“La virgen de los sicarios™ es una novela sobre el narcotrafico en

. México

. Colombia
. Pert

. Brasil

1 1

2) 2

(3) 3

(4) 4

R

1[Option ID=24013] Question Description : spanish_spanish_set 1_spanish_q29
2[Option ID=24014]
3[Option ID=24015]
4[Option ID=24016]

Sl. No.30
QBID:140030

Gloria Fuertes es conocida como escritora de literatura

1. policiaca
2. infantil

3. roméantica
4, socialista
1 1

2) 2

(3) 3

(4) 4

1[Option ID=24017] Question Description : spanish_spanish_set 1_spanish_q30
2[Option ID=24018]
3[Option ID=24019]
4[Option ID=24020]

Sl. No.31
QBID:140031

La obra de Elena Poniatowska puede clasificarse en la categoria de

. Novela romantica
. Novela policiaca
. Cronica

. Epica

(1) 1

2) 2

(3) 3

(4) 4

ko =

L

1[Option ID=24021] Question Description : spanish_spanish_set 1_spanish_q31
2[Option ID=24022]
3[Option ID=24023]
4[Option ID=24024]

Sl. No.32
QBID:140032

Quechua es la lengua oficial en:

. Ecuador y Perti

. El Salvador y Honduras
. Belice y Nicaragua

. Uruguay y México

1 1

(2) 2

3) 3

(4) 4

i L b =

1[Option ID=24025] Question Description : spanish_spanish_set 1_spanish_q32




2[Option ID=24026]
3[Option ID=24027]
4[Option ID=24028]

Sl. No.33
QBID:140033

Guillermo del Toro gand el premio Oscar para la direccién de la pelicula:

1. El laberinto de fauno
2. Diario de motocicleta
3. Encanto
4. La forma de agua
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24029] Question Description : spanish_spanish_set 1_spanish_q33
2[Option ID=24030]

3[Option ID=24031]
4[Option ID=24032]

Sl. No.34
QBID:140034

El plato méas emblematico de Pert es:

. Tamal

. Choripan

. Ceviche

. Guacamole
(1) 1

(2) 2

3) 3

(4) 4

ba =

L

1[Option ID=24033] Question Description : spanish_spanish_set 1_spanish_q34
2[Option ID=24034]
3[Option ID=24035]
4[Option ID=24036]

Sl. No.35
QBID:140035

Después de matar a Moctezuma a pedradas, el pueblo azteca ataco a la guarnicién espafiola en Tenochtitlan en
1520. Los espafioles perdieron la mitad de sus efectivos y varios miles de aliados. Los espafioles denominan
esta tragedia como:

1. El dia oscuro
2. La batalla de Ayacucho
3. La noche triste
4. El grito de dolor
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24037] Question Description : spanish_spanish_set 1_spanish_q35
2[Option ID=24038]

3[Option ID=24039]
4[Option ID=24040]

Sl. No.36
QBID:140036

. Cual de las siguientes frases es CORRECTA en el contexto de Cristobal Colon?

1. Escribid los Naufragios
2. Era portugues
3. Realizd cuatro viajes al Nuevo Mundo
4. Firmo el tratado de Tordesillas
(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=24041] Question Description : spanish_spanish_set 1_spanish_q36
2[Option ID=24042]
3[Option ID=24043]
4[Option ID=24044]

Sl. No.37
QBID:140037

La frontera natural entre México y los Estados Unidos es:

. El rio San Francisco
. El Orinoco

. El Plata-Parana

. El rio Bravo

(1) 1

(2) 2

3) 3

(4) 4

o =

L

1[Option ID=24045] Question Description : spanish_spanish_set 1_spanish_q37
2[Option ID=24046]
3[Option ID=24047]
4[Option ID=24048]

Sl. No.38
QBID:140038

El organo metropolitano de gobierno de las Indias en Espania responsable para el comercio entre Espana v la
América Latina:

1. El Consejo de Indias
2. El Consejo Supremo de América
3. La Casa de Contratacion
4. Las Audiencias
1 1
2) 2
3) 3
(4) 4

1[Option ID=24049] Question Description : spanish_spanish_set 1_spanish_q38
2[Option ID=24050]
3[Option ID=24051]
4[Option ID=24052]

Sl. No.39
QBID:140039

El contrato entre Colon y los Reyes Catolicos para embarcar el viaje a la India se llamaba:

1. El contrato de Sevilla

b2

. El tratado de Alcacovas

L]

. Las Capitulaciones de Santa Fé

4. El tratado de Ultrech
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24053] Question Description : spanish_spanish_set 1_spanish_q39
2[Option ID=24054]

3[Option ID=24055]
4[Option ID=24056]

Sl. No.40
QBID:140040




La Capoeira fue creada en Brasil por los descendientes:

. africanos

. espafioles
. bolivianos
. gringos

B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24057] Question Description : spanish_spanish_set 1_spanish_q40
2[Option ID=24058]

3[Option ID=24059]
4[Option ID=24060]

Sl. No.41
QBID:140041

Seleccione los 3 criterios con los que debe cumplir el Marco Comun Europeo de Referencia para las Lenguas

A. integrador
B. retador

C. trangparente
D. coherente

1[Option ID=24061] Question Description : spanish_spanish_set 1_spanish_q41
2[Option ID=24062]
3[Option ID=24063]
4[Option ID=24064]

Sl. No.42
QBID:140042

En la comunicacion textual mediante ordenadores, cuales son las afirmaciones correctas:

A. Hay un descuido de la lengua oficial

B. Se puede transmitir la informacién no verbal de forma eficaz
C. Se comunica con precision gramatical

D. La cultura dinamica esta prohibida

Elija la respuesta correcta:

b =

no U w

=
rEOP

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24065] Question Description : spanish_spanish_set 1_spanish_q42
2[Option ID=24066]

3[Option ID=24067]
4[Option ID=24068]

Sl. No.43
QBID:140043




11. ;Cuales son las vocales abiertas?

A. “a”
B. “e”
C. “*
D. “o”
E. “u”
LABE
2B 0D
3 0DE
4.A,B,D

)1

(2) 2

3) 3

(4) 4

1[Option ID=24069] Question Description : spanish_spanish_set 1_spanish_q43
2[Option ID=24070]
3[Option ID=24071]
4[Option ID=24072]

Sl. No.44
QBID:140044

El rostro de Espafia ha sido esculpido por:

A. ibéricos v celtos
B. gricgos v fenicios
C. arabes y judios
D. aztecas e incas

Elija la opeidn correcta:

L
POow>

- Tt

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24073] Question Description : spanish_spanish_set 1_spanish_q44
2[Option ID=24074]

3[Option ID=24075]
4[Option ID=24076]

Sl. No.45
QBID:140045

Las jarchas:

A. Tienen el caracter amoroso v popular.

B. Son fechables a partir del siglo XI.

C. Son poemillas en dialecto mozéarabe.

D. Aparecen en la Epoca Medieval justo después del Poema de Mio Cid.

Elija la opcidn correcta:

1.A,B.D
2.B,C.D
A,B,C
.C,D,A
1) 1
2) 2
3) 3
4) 4

1[Option ID=24077] Question Description : spanish_spanish_set 1_spanish_q45




2[Option ID=24078]
3[Option ID=24079]
4[Option ID=24080]

Sl. No.46
QBID:140046

Los siguientes son los mayores exponentes del surrealismo espafiol:

A. Salvador Dali

B. Maruja Mallo

C. Joan Miro

D. Francisco de Zurbarin

Elija la opeidn correcta:

. B. D
.D
LE

ﬁ.k?ﬁ*ﬁ-
SN Nl

1.
2
3.4
4.
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=24081] Question Description : spanish_spanish_set 1_spanish_q46
2[Option ID=24082]

3[Option ID=24083]
4[Option ID=24084]

Sl. No.47
QBID:140047

Los siguientes son los personajes importantes del Quijote:

A. Ginés de Pasamonte

B. Rocinante

C. Cide Hamete Benengeli
D. Pepe Carvalho

Elija la opeidn correcta:

L.
2

B
W
pEaw
wo!

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=24085] Question Description : spanish_spanish_set 1_spanish_q47
2[Option ID=24086]

3[Option ID=24087]
4[Option ID=24088]

Sl. No.48
QBID:140048

Los siguientes politicos eran protagonistas de la guerra civil espafiola

A. José Antonio Primo de Rivera
B. Manuel Azafia

C. Francisco Franco

D. José Maria Aznar

Dolores Ibarruri

1.A,B,C,D
2.B,C,D.E
3.A.B.C.E
4.A.C,D.E

11




(2) 2

(3) 3

(4) 4

1[Option ID=24089] Question Description : spanish_spanish_set 1_spanish_q48
2[Option ID=24090]

3[Option ID=24091]
4[Option ID=24092]

Sl. No.49
QBID:140049

Los siguientes autores son de la literatura Boom en América Latina

. Julio Cortazar

. Gabriel Garcia Marquez
. Mario Vargas Llosa

. José Donoso

. Vicente Huidobro

Wb mOdnWe

CRSRCRY
oo m

o
NppPw

Swwn

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=24093] Question Description : spanish_spanish_set 1_spanish_q49
2[Option ID=24094]

3[Option ID=24095]
4[Option ID=24096]

Sl. No.50
QBID:140050

Los autores del pensamiento decolonial son

. Ochy Curiel

. Enrique Dussell
. Walter Mignolo
. Luz Horne

. Beatriz Sarlo

Mg o we

P @ B R

da LD b —

B.C.E

A,B.C

A C.D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24097] Question Description : spanish_spanish_set 1_spanish_q50
2[Option ID=24098]

3[Option ID=24099]
4[Option ID=24100]

Sl. No.51
QBID:140051




El gaucho figura en

. Martin Fierro

. Don Segundo Sombra
. El periquillo sarniento
. Dofia Barbara

. La voragine

Mmoo W

.A.B.E only
.AyBonly
.ByE only

L b =

4.Cy D only
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24101] Question Description : spanish_spanish_set 1_spanish_q51
2[Option ID=24102]

3[Option ID=24103]
4[Option ID=24104]

Sl. No.52
QBID:140052

El gobierno actual de Espafia es una coalicion de los siguientes partidos politicos:

A PP

B. Vox

C.PSOE

D. Unidas Podemos

C.

ko=

A
Fer o
.C,B
.A,D

i L

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24105] Question Description : spanish_spanish_set 1_spanish_q52
2[Option ID=24106]

3[Option ID=24107]
4[Option ID=24108]

Sl. No.53
QBID:140053

Los siguientes pertenecen a la generacion de 98:

. Miguel de Unamuno

. Antonio Machado

. Ramoén de Valle Inclan
. Federico Garcia Lorca

O

AB

B

C.
A,
B.

Gty B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24109] Question Description : spanish_spanish_set 1_spanish_q53
2[Option ID=24110]

3[Option ID=24111]
4[Option ID=24112]




Sl. No.54
QBID:140054

El lago Titicaca se ubica en los territorios de:

A. Bolivia
B. Argentina
C. Chile

D. Pert

Elija la repuesta correcta:

1.A,D
2

s |
W
a0

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24113] Question Description : spanish_spanish_set 1_spanish_q54
2[Option ID=24114]

3[Option ID=24115]
4[Option ID=24116]

Sl. No.55
QBID:140055

Elija los futbolistas de los paises hispanohablantes:
A, Neymar
B. Lionel Messi
C. Fernando Torres
D. Cristiano Ronaldo
Elija la respuesta correcta:

ILA.B
2

.B.C
D
.B.D

= L

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24117] Question Description : spanish_spanish_set 1_spanish_q55
2[Option ID=24118]

3[Option ID=24119]
4[Option ID=24120]

Sl. No.56
QBID:140056

Elija los escritores que han visitado a la India:

A. Octavio Paz

B. Gabriel Gareia Marquez
C. Tulio Cortazar

D. Carlos Fuentes

Elija la respuesta correcta:

ko =

o
R0
oong
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(3) 3




(4) 4

1[Option ID=24121]
2[Option ID=24122]
3[Option ID=24123]
4[Option ID=24124]

Question Description : spanish_spanish_set 1_spanish_q56

Sl. No.57
QBID:140057

Elija entre los siguientes personajes latinoamericanos que representan las comunidades indigenas:

A. Rigoberta Menchn

B. Jair Bolsonaro
C. Evo Morales
D. JeanineAfiéz

Elija la respuesta correcta:

1.A,D
3.B,€
3.D.C
4.A.C

11

(2) 2

(3) 3

(4) 4

1[Option ID=24125]
2[Option ID=24126]
3[Option ID=24127]
4[Option ID=24128]

Question Description : spanish_spanish_set 1_spanish_q57

Sl. No.58
QBID:140058

Elija las opeiones correctas:

A. Elindigenismo, José Maria Arguedas, Dofia Barbara

B. La literatura gauchesca, Ricardo Giiiraldes, Don Segundo Sombra

C. El indigenismo, José Maria Arguedas, El zorro de arriba y el zorro de abajo
D. La revolucidon mexicana, Mariano Azuela, Facundo

Elija la respuesta correcta:

1.A,C
2.C,D
3.B,C
4.B.D

1 1

2) 2

3) 3

4) 4

1[Option ID=24129]
2[Option ID=24130]
3[Option ID=24131]
4[Option ID=24132]

Question Description : spanish_spanish_set 1_spanish_q58

Sl. No.59
QBID:140059




Elija los dioses aztecas de las siguientes opciones:

A Huitzilopochtli
B. Inti

C. Quetzalcdatl
D. Itzam Na

Elija las opciones correctas:

A, C

1
2

Bk
"oy
oow

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24133] Question Description : spanish_spanish_set 1_spanish_q59
2[Option ID=24134]

3[Option ID=24135]
4[Option ID=24136]

Sl. No.60
QBID:140060

De las siguientes palabras en espafiol cudles proceden del arabe:

A. Aceite
B. Joroba
C. Huracan
D. Candn

Elija la opeidn correcta:

f')_rra_;"pU:'
Oggwn

L. B.
2
3.4
4.C,
1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24137] Question Description : spanish_spanish_set 1_spanish_q60
2[Option ID=24138]

3[Option ID=24139]
4[Option ID=24140]

Sl. No.61
QBID:140061

Los siguientes autores han escrito sobre el femicidio en México:

A. Moénica Lavin

B. Cristina Rivera Garza
C. Roberto Bolafio

D. Almudena Grandes
E. Angel Rama

Elija la opeidn correcta:

B €D
E

E

»w e
2ng




1[Option ID=24141] Question Description : spanish_spanish_set 1_spanish_q61
2[Option ID=24142]
3[Option ID=24143]
4[Option ID=24144]

Sl. No.62
QBID:140062

“Como agua para chocolates™

A. Es una novela de Laura Esquivel
B. Trata la moda en Meéxico

C. Se basa en la comida mexicana
D. Se ha convertido en pelicula

E. Tiene protagonistas australianos

Elija la opeidn correcta:

b =
>R
bonw
g

e Lad

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24145] Question Description : spanish_spanish_set 1_spanish_q62
2[Option ID=24146]

3[Option ID=24147]
4[Option ID=24148]

Sl. No.63
QBID:140063

Elija los presidentes de Chile de la lista:

A. Salvador Allende
B. Gustavo Petro

C. Michelle Bachelet
D. Gabriel Boric

Elija la opeidn correcta:

1.A,B
2.5 Cil
3.C.D
4B.CD

11

(2) 2

(3) 3

(4) 4

1[Option ID=24149] Question Description : spanish_spanish_set 1_spanish_q63
2[Option ID=24150]
3[Option ID=24151]
4[Option ID=24152]

Sl. No.64
QBID:140064




En la traduccién de una obra literaria se usa

A. la traduccion literal

B. la traduccion libre

C. la traduccién comunicativa
D. la traduccion dindmica

Elija la respuesta correcta:

e e b=

P

wel s
o

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=24153] Question Description : spanish_spanish_set 1_spanish_q64
2[Option ID=24154]

3[Option ID=24155]
4[Option ID=24156]

Sl. No.65
QBID:140065

;Cuales de las siguientes novelas tratan el tema vasco y el terrorismo?

A. Las edades de Lulu

B. Patria

C. Plenilunio

D. El silencio de las sirenas
E. El hijo del acordeonista

Elija la opeidn correcta:

1.B,.C.E
2.A.B.E
3 B.C D
4 A.C.D
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=24157] Question Description : spanish_spanish_set 1_spanish_q65
2[Option ID=24158]
3[Option ID=24159]
4[Option ID=24160]

Sl. No.66
QBID:140066

Relacione las dos columnas:

Lista I Lista IT
A [Inti Raymi 1 Brasil
B. [El Camaval de Rio de Janewro| II. |Peru
C. |LaFena de las flores 111 IMléxico
D. [Dia de los muertos IV [Colombia

Choose the correct answer from the options given below:

.A-IV,B-I, C-II, D-III
. A, B-II, C-III, D-IV
. A-IL, B-I, C-IV, D-III

L bd =

4. A-IV, B-II, C-III, D-I
1) 1
(2) 2




(3) 3
(4) 4

1[Option ID=24161] Question Description : spanish_spanish_set 1_spanish_q66
2[Option ID=24162]
3[Option ID=24163]
4[Option ID=24164]

Sl. No.67
QBID:140067

Relacione las dos columnas:

Lista I Lista I1
A [Machu Picchu I |Argentina
B | Chichen Itza IT. |Pern
C. | Cataratas de [guazy] IIl. |Guatemala
D. |Tikal TV. [México

Choose the correct answer from the options given below:

. AL B-IIL C- IV, D-1
. A-II, B-III, C-I, D-IV
. A-IV, B-III, C-I, D-I

o =

LF¥]

4. A-IT, B-IV, C-I, D-III
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=24165] Question Description : spanish_spanish_set 1_spanish_q67
2[Option ID=24166]

3[Option ID=24167]
4[Option ID=24168]

Sl. No.68
QBID:140068

Relacione las dos columnas:

Lista I Lista IT
A [Brasil I |Anastasio Somoza
B |Cuba 11 | Getulio Vargas
C. [Nicaragua II1. [Rafacl Leonidas Trujille
D. |La Republica Dominicanal IV. [Fulgencio Batista

Choose the correct answer from the options given below:

AT, B-IV, C- 1L D- I
. A-II, B-IV, C-III, D-I

b =

3. A-IIL, B-IV, C-I, D-II
4. A-IL, B-IV, C-1, D-III
1
(2) 2
(3) 3
(4) 4

1[Option ID=24169] Question Description : spanish_spanish_set 1_spanish_q68
2[Option ID=24170]
3[Option ID=24171]
4[Option ID=24172]

Sl. No.69
QBID:140069




Relacione las dos columnas

LISTI LISTII
A |Horacio Castellanos Moyal I [Barom
B. | Roberto Bolafio I1. |Tirana Memoria
C. |Sergio Chejfec IT1. | 2666
D. |[Ernesto Sabato IV. |El Tunel

Elija la opeidn correcta:

. A-ITL, B-IV, C-II, D-I
. AL, B-IIL, C-I, D-IV
. AL, B-III, C-IV, D-II
. Al B-IV, C-III, DI
11
() 2
(3) 3
(4) 4

b =

e L

1[Option ID=24173] Question Description : spanish_spanish_set 1_spanish_q69
2[Option ID=24174]
3[Option ID=24175]
4[Option ID=24176]

Sl. No.70
QBID:140070

Relacione las dos columnas

LISTI LISTII
A |La batalla de Lepanto I |Conde Dugue de Olivareg
B |Launion de Armas II. |Boabdil
C. [Elulumo reyv more de Espaiial II1. | Abd El Ramman II1
D | Medina al-Azahara I'V. [Miguel de Cervantes

Elija la opeidn correcta:

A-IIL, B-IL, C-TV, D-I

. A-I, B-II, C-IV, D-III
3. A-IV, B-I, C-II, D-III
4. A-IV, B-II, C-III, D-I

)1

) 2

(3) 3

(4) 4

b =

1[Option ID=24177] Question Description : spanish_spanish_set 1_spanish_q70
2[Option ID=24178]
3[Option ID=24179]
4[Option ID=24180]

Sl. No.71
QBID:140071

Relacione las dos columnas

LISTI LISTII
A |ElPais I |Cuba
B. |La Jornada II. |Argentina
C. | Clarin [T | Meéxico
D | Granma IV. [Espafia

Elija la opeién correcta:

1. A-IIL, B-I, C-I, D-IV
2. A-IL, B-I, C-IIL, D-IV
3. A-L, B-IV, C-III, D-II
4. A-IV, B-III, C-II, D-I

1

(2) 2




(3) 3
(4) 4

1[Option ID=24181] Question Description : spanish_spanish_set 1_spanish_q71
2[Option ID=24182]
3[Option ID=24183]
4[Option ID=24184]

Sl. No.72
QBID:140072

Relacione las dos columnas

Listal Lista IT
A |Octavio Paz 1. |Tren a Travancore
B. [favier Moro I1. | Laberinto de Soledad
C. [Rodrigo Rey Rosa I11. | Coronada de Moscas
D. Margo Glantz IV | Pasion India

Elija la opeidn correcta:

. A-IL, B-IV, C-I, D-III

. A-I, B-II, C-IV, D-III
3. A-IV, B-III, C-II. D-I
4. A-IIL, B-II, C-IV, D-I

11

(2) 2

(3) 3

(4) 4

o =

1[Option ID=24185] Question Description : spanish_spanish_set 1_spanish_q72
2[Option ID=24186]
3[Option ID=24187]
4[Option ID=24188]

Sl. No.73
QBID:140073

Relacione las dos columnas:

Lista I Lista IT
A [Pepi, Luci, Bom v otras chicas del monton | I |Javier Bardem
B. | Mar adentro I1. |Penelope Cruz
C. |Todo sobre mi madre III. | Antonio Banderas
D. | Laberinto de Pasiones IV. [Carmen Maura

Elija la opeién correcta:

. A-IV, B-1, C-II, D-IIT
. A1, B-II, C-I, D-IV
. AL, B-III, C-IV, D-II
. AL, B-IV, C-III, D-I
1
) 2
(3) 3
(4) 4

e T b

1[Option ID=24189] Question Description : spanish_spanish_set 1_spanish_q73
2[Option ID=24190]
3[Option ID=24191]
4[Option ID=24192]

Sl. No.74
QBID:140074




Relacione las dos columnas:

Lista I Lista IT
A Melibea I. PManuel Vazquez Montalban|
B |Dulcinea del Toboso | II. [Manano José de Larra
C. |Figaro ITI. | Fernando de Rojas
D. | Pepe Carvalho IV. Miguel de Cervantes

Elija la opeidn correcta:

1. A-IV, B-I, C-II, D-III
. AL, B-II, C-I, D-IV
A-IIL, B-IV, C-I1, D-I
AL B-IV, C-III, D-1
11

) 2

(3) 3

(4) 4

[ ]

NS 51

1[Option ID=24193] Question Description : spanish_spanish_set 1_spanish_q74
2[Option ID=24194]
3[Option ID=24195]
4[Option ID=24196]

Sl. No.75
QBID:140075

Relacione las dos columnas:

Listal Lista IT
A | Stephen Krashen I. [Noam Chomsky
B. | Conductismo 1I. | Modelo del monitor
C. |Innatismo IT1. |Significado v significantg
D. |Ferdinand de Sassure | IV. [B.F. Skinner

Elija la opcién correcta:

. A-IL, B-I, C-IV, D-III
AL, B-IL, C-1, D-IV
. A-IV, B-III, C-1, D-II
A-II, B-IV, C-I, D-III

-l-.!..ul...)l—L

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24197] Question Description : spanish_spanish_set 1_spanish_q75
2[Option ID=24198]

3[Option ID=24199]
4[Option ID=24200]

Sl. No.76
QBID:140076

Elija la secuencia correcta de las siguientes obras segiin la publicacién cronologica:

A. El Corazén helado
B. La Galatea

C. Los pazos de Ulloa
D. Libro de Buen Amor

Elija la opeidn correcta:

. A-B-C-D
.B-C-D-A
.D-B-C-A
. C-D-B-A
(1) 1
(2) 2
(3) 3

ko =

e Taa




(4) 4

1[Option ID=24201] Question Description : spanish_spanish_set 1_spanish_q76
2[Option ID=24202]
3[Option ID=24203]
4[Option ID=24204]

Sl. No.77
QBID:140077

Ponga los ganadores del Premio Nobel de Espana segtin el orden cronologico:

A. Camilo José Cela

B. Juan Ramon Jiménez
C. José de Echegaray
D. Jacinto Benavente

Elija la opeidn correcta:

1.C-D-B-A
2. DCAT
3. A-B-C-D
4.B-A-D-C

11

(2) 2

(3) 3

(4) 4

1[Option ID=24205] Question Description : spanish_spanish_set 1_spanish_q77
2[Option ID=24206]
3[Option ID=24207]
4[Option ID=24208]

Sl. No.78
QBID:140078

Elija la secuencia correcta seglin la cronologia:

A. La corriente mistica
B. El costumbrismo

C. El Mester de Juglaria
D. La Generacion de 27

Elija la opeidn correcta:

1.C-A-B-D
2. D-B-C-A
3, A-B-C-D
4.C-D-B-A

(11

(2 2

(3) 3

(4) 4

1[Option ID=24209] Question Description : spanish_spanish_set 1_spanish_q78
2[Option ID=24210]
3[Option ID=24211]
4[Option ID=24212]

Sl. No.79
QBID:140079

Elija la secuencia correcta de escritores del siglo XIX a la edad moderna en el orden cronolégico:

. José Marti

. Luisa Valenzuela

. José de Espronceda
. Rosario Castellanos

00w

D-A-C-B
A-C-D-B
C-A-D-B
A-C-B-D

e LD b2

11




(2) 2

3) 3

(4) 4

1[Option ID=24213] Question Description : spanish_spanish_set 1_spanish_q79
2[Option ID=24214]

3[Option ID=24215]
4[Option ID=24216]

Sl. No.80
QBID:140080

Elija la secuencia cronolégica correcta:

A. El enfoque comunicativo

B. El método gramitica-traduccién
C. El método directo

D. El método audio-lingual

Elija la opeidn correcta

1. B-C-D-A
2. A-D-B-C
3. C-B-D-A
4, D-A-C-B

(1)1

(2) 2

(3) 3

(4) 4

1[Option ID=24217] Question Description : spanish_spanish_set 1_spanish_q80
2[Option ID=24218]
3[Option ID=24219]
4[Option ID=24220]

Sl. No.81
QBID:140081

Ponga los siguientes hechos historicos en el orden cronologico correcto:

. La revolucion mexicana

. El Porfiriato

. La guerra de reforma

. La nacionalizacion del petroleo

. El Tratado de Libre Comercio con los EEUU

Mg o we

.B.A,C.D.E
.C,A,B,D.E
C.B.A.D.E
KB CD.H

da LD b

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24221] Question Description : spanish_spanish_set 1_spanish_q81
2[Option ID=24222]

3[Option ID=24223]
4[Option ID=24224]

Sl. No.82
QBID:140082




Ponga los siguientes movimientos en el orden cronologico correcto

A. Lanovela gauchesca

B. El realismo mégico

C. Movimiento de Crac

D. La literatura de la frontera norte
E. El romanticismo

Elija la opeidn correcta:

. E-B-C-D-A
.E-A-B-C-D
. A-E-B-C-D
.B-C-D-A-E
(1) 1
(2) 2
(3) 3
(4) 4

[N PV N

1[Option ID=24225] Question Description : spanish_spanish_set 1_spanish_q82
2[Option ID=24226]
3[Option ID=24227]
4[Option ID=24228]

Sl. No.83
QBID:140083

Ponga los siguientes hechos historicos en el orden cronolégico correcto

A. El acueducto de Segovia
B. La Dama de Elche

C. La mezquita de Cordoba
D. El Escorial

E. El Valle de los caidos

Elija la opeidn correcta:

. C-D-B-A-E
B-A-C-D-E
.D-E-B-C-A
.D-B-A-C-E
1) 1
(2) 2
(3) 3
4) 4

b =

=

1[Option ID=24229] Question Description : spanish_spanish_set 1_spanish_q83
2[Option ID=24230]
3[Option ID=24231]
4[Option ID=24232]

Sl. No.84
QBID:140084

Elija la secuencia correcta segln la ubicacidén de paises latinoamericanos de norte al sur:

A. Guatemala
B. Perti

C. Colombia
D. Uruguay

Elija la respuesta correcta:

1. A-B-C-D
2. B-A-D-C
3. A-C-B-D
4. A-C-D-B

(1) 1

(2) 2

(3) 3




(4) 4

1[Option ID=24233] Question Description : spanish_spanish_set 1_spanish_q84
2[Option ID=24234]
3[Option ID=24235]
4[Option ID=24236]

Sl. No.85
QBID:140085

Elija la secuencia correcta de estos acontecimientos historicos de América Latina

. Crisis de los misiles en Cuba

. El levantamiento zapatista en Chiapas
. La revolucion cubana

. La Guerra hispano-estadounidense

Oow e

B-D-A-C
A-D-C-B
D-C-A-B
D-A-B-C

el

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24237] Question Description : spanish_spanish_set 1_spanish_q85
2[Option ID=24238]

3[Option ID=24239]
4[Option ID=24240]

Sl. No.86
QBID:140086

En la lingiiistica al nivel sintactico se estudia
Frase I: Orden de las palabras en la oracion
Frase II : Relacion de las palabras en la oracion
Elija la respuesta correcta:

. Ambas frases son correctas

. Ambas frases son incorrectas

. Frase I es correcta pero la Frase I es incorrecta

. Frase I es incorrecta pero la Frase II es incorrecta
1)1

() 2

3) 3

(4) 4

S R

1[Option ID=24241] Question Description : spanish_spanish_set 1_spanish_q86
2[Option ID=24242]
3[Option ID=24243]
4[Option ID=24244]

Sl. No.87
QBID:140087

Se dan dos frases a continuacion

Frase I: La pelicula mexicana Roma se basa en la Ciudad de México.

Frase II: La protagonista principal es una sirvienta indigena.

A la luz de estas dos frases, elija la opcion correcta de las dadas a continuacion:

. Ambas frases son correctas

. Ambas frases son incorrectas

. Frase I es correcta pero la Frase II es incorrecta

. Frase I es incorrecta pero la Frase II es incorrecta
(1) 1

(2) 2

3) 3

4) 4

e L b

1[Option ID=24245] Question Description : spanish_spanish_set 1_spanish_q87
2[Option ID=24246]
3[Option ID=24247]
4[Option ID=24248]




Sl. No.88
QBID:140088

Se dan dos frases a continuacion:

Frase I. La Constitucion Espafiola de 1978 establece que ¢l Estado se organiza en provincias v en las
Comunidades Autonomas.

Frase II. La Constitucién Espafiola de 1978 establece que todas las provincias no gozan de autonomias.

Elija la opeidn correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase I es correcta pero la Frase II es incorrecta.
4. Frase [ es incorrecta pero la Frase IT es correcta.

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=24249] Question Description : spanish_spanish_set 1_spanish_q88
2[Option ID=24250]
3[Option ID=24251]
4[Option ID=24252]

Sl. No.89

QBID:140089

Se dan dos frases a continuacion

Frase I: El Sendero Luminoso fue un grupo guerrillero de Colombia.

Frase II: Las FARC-EP fueron una organizacion guerrillera insurgente colombiana de extrema izguierda que se
desmovilizd en 2016 por los Acuerdos de Paz.

A la luz de estas dos frases, elija la opcidn correcta de las dadas a continuacion:

. Ambas frases son correctas

. Ambas frases son incorrectas

3. Frase I es correcta pero la Frase II es incorrecta
4. Frase [ es incorrecta pero la Frase II es correcta

[

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24253] Question Description : spanish_spanish_set 1_spanish_q89
2[Option ID=24254]

3[Option ID=24255]
4[Option ID=24256]

Sl. No.90
QBID:140090

Se dan dos frases a continuacion

Frase I: Las palabras “herrar” y “errar” son ejemplos de las palabras homografas.
Frase II: Las palabras “baca™ y “vaca” son ejemplos de las palabras homofonas.
A la luz de estas dos frases, elija la opcidn correcta de las dadas a continuacion:

. Ambas frases son correctas

. Ambas frases son incorrectas

. Frase I es correcta pero la Frase I es incorrecta
. Frase I es incorrecta pero la Frase II es correcta

S R

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=24257] Question Description : spanish_spanish_set 1_spanish_q90
2[Option ID=24258]

3[Option ID=24259]
4[Option ID=24260]

Sl. No.91
QBID:140091




Lea el siguiente texto y responda a las preguntas

En nuestra sociedad, se tiende a pensar que el matrimonio, la base de la familia, se sostiene si hay confianza
mutua y buena comunicacion, asi como si ambos miembros de la pareja trabajan unidos para resolver los
conflictos y pasan tiempo juntos. En resumen, su piedra angular es un amor maduro y sincero. No obstante, la
idea de que éste deba ser la razon Gltima del enlace es bastante reciente: aparece en el siglo XVIII y se afianza
en el XIX, con el movimiento romantico. Hasta entonces, el matrimonio era ante todo una institucién
econdmica y politica demasiado trascendente como para dejarla en manos de los dos individuos implicados.
En general, resultaba inconcebible que semejante acuerdo se basara en algo tan irracional como el
enamoramiento. De hecho, no se inventd para que los hombres protegieran a las mujeres ni para que las
explotaran. Se trataba de una alianza entre grupos que iba mas alla de los familiares méas cercanos o incluso los
pequefios grupos. Para las élites, era una manera excelente de consolidar la riqueza, fusionar recursos y forjar
uniones politica, desde la Edad Media. la dote de boda de la mujer constituia el mayor ingreso de dinero,
bienes o tierras que un hombre iba a recibir en toda su vida. Para los mas pobres, también suponia una
transaccién econdmica que debia ser beneficiosa para la familia. Asi, se solia casar al hijo con la hija de quien
tenia un campo colindante. El matrimonio se convirtid en la estructura que garantizaba la supervivencia de la
familia extendida, que incluye abuclos, hermanos, sobrinos... Al contrario de lo que solemos creer, la imagen
del marido trabajando fuera de la casa v la mujer haciéndose cargo de la misma es un producto reciente. de los
afios 50. Hasta entonces, la familia no se sostenia con un tGnico proveedor, sino que todos sus integrantes
contribuian al inico negocio de la que esta dependia.

Que el matrimonio no se basara en el amor no quiere decir que las personas no se enamoraran. Sin embargo,
en algunas culturas se trata de algo incompatible con el matrimonio. En la China tradicional, por ¢jemplo, una
atraccidn excesiva entre los esposos era tenida como una amenaza al respeto y solidaridad debida a la familia.
Es mas, en tal ambiente. la palabra “amor™ solo se aplicaba para describir las relaciones ilicitas. Fue en la
década de 1920 cuando se inventd un término para designar el carifio entre conyuges. Una idea tan
radicalmente nueva exigia un vocabulario especial.

Atin hoy, muchas sociedades desaprucban la idea de que el amor sea el centro del matrimonio. Es el caso de
los fulbes africanos, del norte de Camertn. "Muchas de sus mujeres niegan vehementemente cualquier apego
hacia el marido”. asegura Halen A. Regis, del Departamento de Geografia Antropologia de la Universidad
Estatal de Luisiana. Otras, en cambio, aprueban el amor entre esposos, pero nunca antes de que el matrimonio
haya cumplido su objetivo primordial.

De acuerdo con el texto, ;qué se puede concluir acerca del matrimonio?

. Que es una institucidn que tiene Gnicamente propositos econdmicos vy politicos.

. Que es la base de la familia en culturas tan diversas v complejas como las nuestras.
. Que es una institucion que varia dependiendo del contexto historico social.

. Que es un pacto entre dos individuos que debe basarse en el amor v la confianza.
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Lea el siguiente texto y responda a las preguntas

En nuestra sociedad, se tiende a pensar que el matrimonio, la base de la familia, se sostiene si hay confianza
mutua y buena comunicacion, asi como si ambos miembros de la pareja trabajan unidos para resolver los
conflictos y pasan tiempo juntos. En resumen, su piedra angular es un amor maduro y sincero. No obstante, la
idea de que éste deba ser la razon Gltima del enlace es bastante reciente: aparece en el siglo XVIII y se afianza
en el XIX, con el movimiento romantico. Hasta entonces, el matrimonio era ante todo una institucién
econdmica y politica demasiado trascendente como para dejarla en manos de los dos individuos implicados.
En general, resultaba inconcebible que semejante acuerdo se basara en algo tan irracional como el
enamoramiento. De hecho, no se inventd para que los hombres protegieran a las mujeres ni para que las
explotaran. Se trataba de una alianza entre grupos que iba mas alla de los familiares méas cercanos o incluso los
pequefios grupos. Para las élites, era una manera excelente de consolidar la riqueza, fusionar recursos y forjar
uniones politica, desde la Edad Media. la dote de boda de la mujer constituia el mayor ingreso de dinero,
bienes o tierras que un hombre iba a recibir en toda su vida. Para los mas pobres, también suponia una
transaccién econdmica que debia ser beneficiosa para la familia. Asi, se solia casar al hijo con la hija de quien
tenia un campo colindante. El matrimonio se convirtid en la estructura que garantizaba la supervivencia de la
familia extendida, que incluye abuclos, hermanos, sobrinos... Al contrario de lo que solemos creer, la imagen
del marido trabajando fuera de la casa v la mujer haciéndose cargo de la misma es un producto reciente. de los
afios 50. Hasta entonces, la familia no se sostenia con un tGnico proveedor, sino que todos sus integrantes
contribuian al inico negocio de la que esta dependia.

Que el matrimonio no se basara en el amor no quiere decir que las personas no se enamoraran. Sin embargo,
en algunas culturas se trata de algo incompatible con el matrimonio. En la China tradicional, por ¢jemplo, una
atraccidn excesiva entre los esposos era tenida como una amenaza al respeto y solidaridad debida a la familia.
Es mas, en tal ambiente. la palabra “amor™ solo se aplicaba para describir las relaciones ilicitas. Fue en la
década de 1920 cuando se inventd un término para designar el carifio entre conyuges. Una idea tan
radicalmente nueva exigia un vocabulario especial.

Atin hoy, muchas sociedades desaprucban la idea de que el amor sea el centro del matrimonio. Es el caso de
los fulbes africanos, del norte de Camertn. "Muchas de sus mujeres niegan vehementemente cualquier apego
hacia el marido”. asegura Halen A. Regis, del Departamento de Geografia Antropologia de la Universidad
Estatal de Luisiana. Otras, en cambio, aprueban el amor entre esposos, pero nunca antes de que el matrimonio
haya cumplido su objetivo primordial.

. Qué implicacion sobre el matrimonio entre los fulbes africanos puede derivarse a partir de lo dicho por el
autor?

. Que en esa comunidad no sucede que haya amor entre esposos

. Que en esa comunidad el amor no es una condicion necesaria para el matrimonio

. Que las mujeres de esa comunidad sienten temor a enamorarse de sus esposos

. Que las mujeres de esa comunidad no ven su amor correspondido por sus esposos.
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Lea el siguiente texto y responda a las preguntas

En nuestra sociedad, se tiende a pensar que el matrimonio, la base de la familia, se sostiene si hay confianza
mutua y buena comunicacion, asi como si ambos miembros de la pareja trabajan unidos para resolver los
conflictos y pasan tiempo juntos. En resumen, su piedra angular es un amor maduro y sincero. No obstante, la
idea de que éste deba ser la razon Gltima del enlace es bastante reciente: aparece en el siglo XVIII y se afianza
en el XIX, con el movimiento romantico. Hasta entonces, el matrimonio era ante todo una institucién
econdmica y politica demasiado trascendente como para dejarla en manos de los dos individuos implicados.
En general, resultaba inconcebible que semejante acuerdo se basara en algo tan irracional como el
enamoramiento. De hecho, no se inventd para que los hombres protegieran a las mujeres ni para que las
explotaran. Se trataba de una alianza entre grupos que iba mas alla de los familiares méas cercanos o incluso los
pequefios grupos. Para las élites, era una manera excelente de consolidar la riqueza, fusionar recursos y forjar
uniones politica, desde la Edad Media. la dote de boda de la mujer constituia el mayor ingreso de dinero,
bienes o tierras que un hombre iba a recibir en toda su vida. Para los mas pobres, también suponia una
transaccién econdmica que debia ser beneficiosa para la familia. Asi, se solia casar al hijo con la hija de quien
tenia un campo colindante. El matrimonio se convirtid en la estructura que garantizaba la supervivencia de la
familia extendida, que incluye abuclos, hermanos, sobrinos... Al contrario de lo que solemos creer, la imagen
del marido trabajando fuera de la casa v la mujer haciéndose cargo de la misma es un producto reciente. de los
afios 50. Hasta entonces, la familia no se sostenia con un tGnico proveedor, sino que todos sus integrantes
contribuian al inico negocio de la que esta dependia.

Que el matrimonio no se basara en el amor no quiere decir que las personas no se enamoraran. Sin embargo,
en algunas culturas se trata de algo incompatible con el matrimonio. En la China tradicional, por ¢jemplo, una
atraccidn excesiva entre los esposos era tenida como una amenaza al respeto y solidaridad debida a la familia.
Es mas, en tal ambiente. la palabra “amor™ solo se aplicaba para describir las relaciones ilicitas. Fue en la
década de 1920 cuando se inventd un término para designar el carifio entre conyuges. Una idea tan
radicalmente nueva exigia un vocabulario especial.

Atin hoy, muchas sociedades desaprucban la idea de que el amor sea el centro del matrimonio. Es el caso de
los fulbes africanos, del norte de Camertn. "Muchas de sus mujeres niegan vehementemente cualquier apego
hacia el marido”. asegura Halen A. Regis, del Departamento de Geografia Antropologia de la Universidad
Estatal de Luisiana. Otras, en cambio, aprueban el amor entre esposos, pero nunca antes de que el matrimonio
haya cumplido su objetivo primordial.

. Cual de los siguientes ejemplos ilustra la idea de la familia como una institucion politica v econdmica?

. En la Edad Media la mujer aportaba una dote en el momento de casarse

. Entre los fulbes africanos es comun que las mujeres nieguen amar a sus maridos

. En los siglos XVIII y XIX cambid la idea sobre cual es 1a base que sostiene la familia

. En la sociedad china solo hasta las década de 1920 se acufid un término para designar el carifio entre
€3PO30S.
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Lea el siguiente texto y responda a las preguntas

En nuestra sociedad, se tiende a pensar que el matrimonio, la base de la familia, se sostiene si hay confianza
mutua y buena comunicacion, asi como si ambos miembros de la pareja trabajan unidos para resolver los
conflictos y pasan tiempo juntos. En resumen, su piedra angular es un amor maduro y sincero. No obstante, la
idea de que éste deba ser la razon Gltima del enlace es bastante reciente: aparece en el siglo XVIII y se afianza
en el XIX, con el movimiento romantico. Hasta entonces, el matrimonio era ante todo una institucién
econdmica y politica demasiado trascendente como para dejarla en manos de los dos individuos implicados.
En general, resultaba inconcebible que semejante acuerdo se basara en algo tan irracional como el
enamoramiento. De hecho, no se inventd para que los hombres protegieran a las mujeres ni para que las
explotaran. Se trataba de una alianza entre grupos que iba mas alla de los familiares méas cercanos o incluso los
pequefios grupos. Para las élites, era una manera excelente de consolidar la riqueza, fusionar recursos y forjar
uniones politica, desde la Edad Media. la dote de boda de la mujer constituia el mayor ingreso de dinero,
bienes o tierras que un hombre iba a recibir en toda su vida. Para los mas pobres, también suponia una
transaccién econdmica que debia ser beneficiosa para la familia. Asi, se solia casar al hijo con la hija de quien
tenia un campo colindante. El matrimonio se convirtid en la estructura que garantizaba la supervivencia de la
familia extendida, que incluye abuclos, hermanos, sobrinos... Al contrario de lo que solemos creer, la imagen
del marido trabajando fuera de la casa v la mujer haciéndose cargo de la misma es un producto reciente. de los
afios 50. Hasta entonces, la familia no se sostenia con un tGnico proveedor, sino que todos sus integrantes
contribuian al inico negocio de la que esta dependia.

Que el matrimonio no se basara en el amor no quiere decir que las personas no se enamoraran. Sin embargo,
en algunas culturas se trata de algo incompatible con el matrimonio. En la China tradicional, por ¢jemplo, una
atraccidn excesiva entre los esposos era tenida como una amenaza al respeto y solidaridad debida a la familia.
Es mas, en tal ambiente. la palabra “amor™ solo se aplicaba para describir las relaciones ilicitas. Fue en la
década de 1920 cuando se inventd un término para designar el carifio entre conyuges. Una idea tan
radicalmente nueva exigia un vocabulario especial.

Atin hoy, muchas sociedades desaprucban la idea de que el amor sea el centro del matrimonio. Es el caso de
los fulbes africanos, del norte de Camertn. "Muchas de sus mujeres niegan vehementemente cualquier apego
hacia el marido”. asegura Halen A. Regis, del Departamento de Geografia Antropologia de la Universidad
Estatal de Luisiana. Otras, en cambio, aprueban el amor entre esposos, pero nunca antes de que el matrimonio
haya cumplido su objetivo primordial.

. Cual de los siguientes enunciados apoya la idea de que el amor maduro y sincero no siempre ha sido
considerado como base de la familia?

1. En los afios 50 se produjo una marcada distincion entre los roles masculino v femenino en la familia
. La idea del amor como la razén que ha de llevar al matrimonio surgio con el movimiento romantico en el
siglo XVIII
3. Ambos miembros de la pareja deben poner mucho empefio para que el matrimonio se sostenga
4. El matrimonio se consolido en el siglo XIX como la principal forma de institucionalizacion del amor
conyugal.
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Lea el siguiente texto y responda a las preguntas

En nuestra sociedad, se tiende a pensar que el matrimonio, la base de la familia, se sostiene si hay confianza
mutua y buena comunicacion, asi como si ambos miembros de la pareja trabajan unidos para resolver los
conflictos y pasan tiempo juntos. En resumen, su piedra angular es un amor maduro y sincero. No obstante, la
idea de que éste deba ser la razon Gltima del enlace es bastante reciente: aparece en el siglo XVIII y se afianza
en el XIX, con el movimiento romantico. Hasta entonces, el matrimonio era ante todo una institucién
econdmica y politica demasiado trascendente como para dejarla en manos de los dos individuos implicados.
En general, resultaba inconcebible que semejante acuerdo se basara en algo tan irracional como el
enamoramiento. De hecho, no se inventd para que los hombres protegieran a las mujeres ni para que las
explotaran. Se trataba de una alianza entre grupos que iba mas alla de los familiares méas cercanos o incluso los
pequefios grupos. Para las élites, era una manera excelente de consolidar la riqueza, fusionar recursos y forjar
uniones politica, desde la Edad Media. la dote de boda de la mujer constituia el mayor ingreso de dinero,
bienes o tierras que un hombre iba a recibir en toda su vida. Para los mas pobres, también suponia una
transaccién econdmica que debia ser beneficiosa para la familia. Asi, se solia casar al hijo con la hija de quien
tenia un campo colindante. El matrimonio se convirtid en la estructura que garantizaba la supervivencia de la
familia extendida, que incluye abuclos, hermanos, sobrinos... Al contrario de lo que solemos creer, la imagen
del marido trabajando fuera de la casa v la mujer haciéndose cargo de la misma es un producto reciente. de los
afios 50. Hasta entonces, la familia no se sostenia con un tGnico proveedor, sino que todos sus integrantes
contribuian al inico negocio de la que esta dependia.

Que el matrimonio no se basara en el amor no quiere decir que las personas no se enamoraran. Sin embargo,
en algunas culturas se trata de algo incompatible con el matrimonio. En la China tradicional, por ¢jemplo, una
atraccidn excesiva entre los esposos era tenida como una amenaza al respeto y solidaridad debida a la familia.
Es mas, en tal ambiente. la palabra “amor™ solo se aplicaba para describir las relaciones ilicitas. Fue en la
década de 1920 cuando se inventd un término para designar el carifio entre conyuges. Una idea tan
radicalmente nueva exigia un vocabulario especial.

Atin hoy, muchas sociedades desaprucban la idea de que el amor sea el centro del matrimonio. Es el caso de
los fulbes africanos, del norte de Camertn. "Muchas de sus mujeres niegan vehementemente cualquier apego
hacia el marido”. asegura Halen A. Regis, del Departamento de Geografia Antropologia de la Universidad
Estatal de Luisiana. Otras, en cambio, aprueban el amor entre esposos, pero nunca antes de que el matrimonio
haya cumplido su objetivo primordial.

Para el autor, el amor o el enamoramiento son

. las bases fundamentales del matrimonio y de la familia.

. amenazas al respeto v la solidaridad debida a la familia.

. ideas solo recientemente vinculadas al matrimonio v a la familia

. sentimientos irracionales que contradicen el deber ser del matrimonio
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Lea el siguiente texto y responda a las preguntas

La calidad del agua doméstica

Incluir agua mineral en la compra parece ser una buena idea. El agua del grifo, aunque segura, puede resultar
de no muy buena calidad y repercutir en nuestra salud.

Incolora, inodora e insipida, esta es la descripeion del agua. Pero lo cierto es que ni siquiera el agua mineral
cumple tales caracteristicas, y mucho menos el agua doméstica. La calidad del agua del grifo es un tema
controvertido. Los ayuntamientos y demas organismos oficiales se encargan de recoger, potabilizar y abastecer
de agua corriente a los habitantes de un municipio, apta para diversos usos. La seguridad esta garantizada, o
por lo menos la exigida por las normativas estatales v autondmicas establecidas, pero eso no significa que su
calidad no sea, en algunos casos. deficiente.

De donde proviene 1

Atras han quedado los tiempos en los que podia beberse el agua directamente de rios y lagos. En la actualidad,
el agua doméstica proviene fundamentalmente de fuentes superficiales, cerca de un 73%: de aguas
subterraneas en un 23%, y un 4% se obtiene por otros procedimientos, como la desalacion.

Su calidad en el origen

La calidad del agua de origen es determinante en la del agua resultante, y este es un problema de Espafia ya
que. por lo general, el agua que se potabiliza es de baja calidad en origen. La contaminacion de rios v capas
fredticas debido a la filtracion de substancias industriales, detergentes, ete. estd perjudicando al débil sistema
biolégico que es el agua.

Las redes de distribucion

Los depositos y tuberias por los que pasa el agua, su composicion y estado, son otros factores influyentes en la
calidad del agua. Las redes de distribucion suelen ser complejas. estan mejor o peor conservadas y elaboradas,
con materiales muy diversos que pueden afectar a la composicion del agua. Ademas en estas extensas redes
pueden desarrollarse ecosistemas subacuaticos en los que vivan bacterias. Para eliminar los posibles
organismos que viven en ellas, las aguas son tratadas con aditivos desinfectantes como el cloro o el ozono,
pero los organismos mutan, crean resistencias, y cada vez hay que utilizar mas cloro. Ademas, estos agentes
usados para descontaminar el agua pueden atacar a las paredes de las conducciones que la transportan,
reaccionando de un modo, en ocasiones aun no estudiado ni sus consecuencias.

Sustancias desinfectantes

Otro tema puede desanimarnos a optar por el grifo como abastecedor de agua corrientes es el efecto, a largo
plazo, que pueden causar las sustancias presentes en el agua, ya sea para potabilizarla o porque se encuentra ya
en las aguas de origen. Estos efectos a largo plazo no han sido analizados.

El texto dice que el agua que usamos normalmente en casa:

. se debe complementar siempre con agua embotellada

. es incluso mejor de lo que establecen las normas al respecto

. no siempre tiene la calidad deseable para garantizar la salud

. nunea se ve purificada también durante el proceso de distribuecion
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Lea el siguiente texto y responda a las preguntas

La calidad del agua doméstica

Incluir agua mineral en la compra parece ser una buena idea. El agua del grifo, aunque segura, puede resultar
de no muy buena calidad y repercutir en nuestra salud.

Incolora, inodora e insipida, esta es la descripeion del agua. Pero lo cierto es que ni siquiera el agua mineral
cumple tales caracteristicas, y mucho menos el agua doméstica. La calidad del agua del grifo es un tema
controvertido. Los ayuntamientos y demas organismos oficiales se encargan de recoger, potabilizar y abastecer
de agua corriente a los habitantes de un municipio, apta para diversos usos. La seguridad esta garantizada, o
por lo menos la exigida por las normativas estatales v autondmicas establecidas, pero eso no significa que su
calidad no sea, en algunos casos. deficiente.

De donde proviene 1

Atras han quedado los tiempos en los que podia beberse el agua directamente de rios y lagos. En la actualidad,
el agua doméstica proviene fundamentalmente de fuentes superficiales, cerca de un 73%: de aguas
subterraneas en un 23%, y un 4% se obtiene por otros procedimientos, como la desalacion.

Su calidad en el origen

La calidad del agua de origen es determinante en la del agua resultante, y este es un problema de Espafia ya
que. por lo general, el agua que se potabiliza es de baja calidad en origen. La contaminacion de rios v capas
fredticas debido a la filtracion de substancias industriales, detergentes, ete. estd perjudicando al débil sistema
biolégico que es el agua.

Las redes de distribucion

Los depositos y tuberias por los que pasa el agua, su composicion y estado, son otros factores influyentes en la
calidad del agua. Las redes de distribucion suelen ser complejas. estan mejor o peor conservadas y elaboradas,
con materiales muy diversos que pueden afectar a la composicion del agua. Ademas en estas extensas redes
pueden desarrollarse ecosistemas subacuaticos en los que vivan bacterias. Para eliminar los posibles
organismos que viven en ellas, las aguas son tratadas con aditivos desinfectantes como el cloro o el ozono,
pero los organismos mutan, crean resistencias, y cada vez hay que utilizar mas cloro. Ademas, estos agentes
usados para descontaminar el agua pueden atacar a las paredes de las conducciones que la transportan,
reaccionando de un modo, en ocasiones aun no estudiado ni sus consecuencias.

Sustancias desinfectantes

Otro tema puede desanimarnos a optar por el grifo como abastecedor de agua corrientes es el efecto, a largo
plazo, que pueden causar las sustancias presentes en el agua, ya sea para potabilizarla o porque se encuentra ya
en las aguas de origen. Estos efectos a largo plazo no han sido analizados.

Segnn el texto, las instituciones responsables del tema del agua:

. dan abundante informacion sobre su calidad

. hacen todo lo posible por mejorar la calidad de su tratamiento

. s¢ ocupan de todo el proceso desde el origen hasta el grifo.

. se ven indeterminada por los materiales de los conductos de transporte.
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Lea el siguiente texto y responda a las preguntas

La calidad del agua doméstica

Incluir agua mineral en la compra parece ser una buena idea. El agua del grifo, aunque segura, puede resultar
de no muy buena calidad y repercutir en nuestra salud.

Incolora, inodora e insipida, esta es la descripeion del agua. Pero lo cierto es que ni siquiera el agua mineral
cumple tales caracteristicas, y mucho menos el agua doméstica. La calidad del agua del grifo es un tema
controvertido. Los ayuntamientos y demas organismos oficiales se encargan de recoger, potabilizar y abastecer
de agua corriente a los habitantes de un municipio, apta para diversos usos. La seguridad esta garantizada, o
por lo menos la exigida por las normativas estatales v autondmicas establecidas, pero eso no significa que su
calidad no sea, en algunos casos. deficiente.

De donde proviene 1

Atras han quedado los tiempos en los que podia beberse el agua directamente de rios y lagos. En la actualidad,
el agua doméstica proviene fundamentalmente de fuentes superficiales, cerca de un 73%: de aguas
subterraneas en un 23%, y un 4% se obtiene por otros procedimientos, como la desalacion.

Su calidad en el origen

La calidad del agua de origen es determinante en la del agua resultante, y este es un problema de Espafia ya
que. por lo general, el agua que se potabiliza es de baja calidad en origen. La contaminacion de rios v capas
fredticas debido a la filtracion de substancias industriales, detergentes, ete. estd perjudicando al débil sistema
biolégico que es el agua.

Las redes de distribucion

Los depositos y tuberias por los que pasa el agua, su composicion y estado, son otros factores influyentes en la
calidad del agua. Las redes de distribucion suelen ser complejas. estan mejor o peor conservadas y elaboradas,
con materiales muy diversos que pueden afectar a la composicion del agua. Ademas en estas extensas redes
pueden desarrollarse ecosistemas subacuaticos en los que vivan bacterias. Para eliminar los posibles
organismos que viven en ellas, las aguas son tratadas con aditivos desinfectantes como el cloro o el ozono,
pero los organismos mutan, crean resistencias, y cada vez hay que utilizar mas cloro. Ademas, estos agentes
usados para descontaminar el agua pueden atacar a las paredes de las conducciones que la transportan,
reaccionando de un modo, en ocasiones aun no estudiado ni sus consecuencias.

Sustancias desinfectantes

Otro tema puede desanimarnos a optar por el grifo como abastecedor de agua corrientes es el efecto, a largo
plazo, que pueden causar las sustancias presentes en el agua, ya sea para potabilizarla o porque se encuentra ya
en las aguas de origen. Estos efectos a largo plazo no han sido analizados.

El texto nos informa de que la calidad del agua de origen:

1. tiene relacion con la proporcidn de las fuentes de agua.
2. influye decisivamente en la calidad del agua corriente.
3. es el principal problema del abastecimiento en Espafa
4. la calidad se ha mejorado mucho en los tltimos afios

1)1

(2) 2

3) 3

(4) 4

1[Option ID=24289] Question Description : spanish_spanish_set 1_spanish_q98
2[Option ID=24290]
3[Option ID=24291]
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Lea el siguiente texto y responda a las preguntas

La calidad del agua doméstica

Incluir agua mineral en la compra parece ser una buena idea. El agua del grifo, aunque segura, puede resultar
de no muy buena calidad y repercutir en nuestra salud.

Incolora, inodora e insipida, esta es la descripeion del agua. Pero lo cierto es que ni siquiera el agua mineral
cumple tales caracteristicas, y mucho menos el agua doméstica. La calidad del agua del grifo es un tema
controvertido. Los ayuntamientos y demas organismos oficiales se encargan de recoger, potabilizar y abastecer
de agua corriente a los habitantes de un municipio, apta para diversos usos. La seguridad esta garantizada, o
por lo menos la exigida por las normativas estatales v autondmicas establecidas, pero eso no significa que su
calidad no sea, en algunos casos. deficiente.

De donde proviene 1

Atras han quedado los tiempos en los que podia beberse el agua directamente de rios y lagos. En la actualidad,
el agua doméstica proviene fundamentalmente de fuentes superficiales, cerca de un 73%: de aguas
subterraneas en un 23%, y un 4% se obtiene por otros procedimientos, como la desalacion.

Su calidad en el origen

La calidad del agua de origen es determinante en la del agua resultante, y este es un problema de Espafia ya
que. por lo general, el agua que se potabiliza es de baja calidad en origen. La contaminacion de rios v capas
fredticas debido a la filtracion de substancias industriales, detergentes, ete. estd perjudicando al débil sistema
biolégico que es el agua.

Las redes de distribucion

Los depositos y tuberias por los que pasa el agua, su composicion y estado, son otros factores influyentes en la
calidad del agua. Las redes de distribucion suelen ser complejas. estan mejor o peor conservadas y elaboradas,
con materiales muy diversos que pueden afectar a la composicion del agua. Ademas en estas extensas redes
pueden desarrollarse ecosistemas subacuaticos en los que vivan bacterias. Para eliminar los posibles
organismos que viven en ellas, las aguas son tratadas con aditivos desinfectantes como el cloro o el ozono,
pero los organismos mutan, crean resistencias, y cada vez hay que utilizar mas cloro. Ademas, estos agentes
usados para descontaminar el agua pueden atacar a las paredes de las conducciones que la transportan,
reaccionando de un modo, en ocasiones aun no estudiado ni sus consecuencias.

Sustancias desinfectantes

Otro tema puede desanimarnos a optar por el grifo como abastecedor de agua corrientes es el efecto, a largo
plazo, que pueden causar las sustancias presentes en el agua, ya sea para potabilizarla o porque se encuentra ya
en las aguas de origen. Estos efectos a largo plazo no han sido analizados.

El autor del texto dice que el agua de origen no tiene la calidad deseable porque:

. se filtran en el agua subterranea substancias industriales
. 1o se realiza una desalacion de suficiente calidad
. los proyectos de mejora del agua de origen han fracasado

LR SR

4. se echa cloro para la purificacion
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=24293] Question Description : spanish_spanish_set 1_spanish_q99
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Lea el siguiente texto y responda a las preguntas

La calidad del agua doméstica

Incluir agua mineral en la compra parece ser una buena idea. El agua del grifo, aunque segura, puede resultar
de no muy buena calidad y repercutir en nuestra salud.

Incolora, inodora e insipida, esta es la descripeion del agua. Pero lo cierto es que ni siquiera el agua mineral
cumple tales caracteristicas, y mucho menos el agua doméstica. La calidad del agua del grifo es un tema
controvertido. Los ayuntamientos y demas organismos oficiales se encargan de recoger, potabilizar y abastecer
de agua corriente a los habitantes de un municipio, apta para diversos usos. La seguridad esta garantizada, o
por lo menos la exigida por las normativas estatales v autondmicas establecidas, pero eso no significa que su
calidad no sea, en algunos casos. deficiente.

De donde proviene 1

Atras han quedado los tiempos en los que podia beberse el agua directamente de rios y lagos. En la actualidad,
el agua doméstica proviene fundamentalmente de fuentes superficiales, cerca de un 73%: de aguas
subterraneas en un 23%, y un 4% se obtiene por otros procedimientos, como la desalacion.

Su calidad en el origen

La calidad del agua de origen es determinante en la del agua resultante, y este es un problema de Espafia ya
que. por lo general, el agua que se potabiliza es de baja calidad en origen. La contaminacion de rios v capas
fredticas debido a la filtracion de substancias industriales, detergentes, ete. estd perjudicando al débil sistema
biolégico que es el agua.

Las redes de distribucion

Los depositos y tuberias por los que pasa el agua, su composicion y estado, son otros factores influyentes en la
calidad del agua. Las redes de distribucion suelen ser complejas. estan mejor o peor conservadas y elaboradas,
con materiales muy diversos que pueden afectar a la composicion del agua. Ademas en estas extensas redes
pueden desarrollarse ecosistemas subacuaticos en los que vivan bacterias. Para eliminar los posibles
organismos que viven en ellas, las aguas son tratadas con aditivos desinfectantes como el cloro o el ozono,
pero los organismos mutan, crean resistencias, y cada vez hay que utilizar mas cloro. Ademas, estos agentes
usados para descontaminar el agua pueden atacar a las paredes de las conducciones que la transportan,
reaccionando de un modo, en ocasiones aun no estudiado ni sus consecuencias.

Sustancias desinfectantes

Otro tema puede desanimarnos a optar por el grifo como abastecedor de agua corrientes es el efecto, a largo
plazo, que pueden causar las sustancias presentes en el agua, ya sea para potabilizarla o porque se encuentra ya
en las aguas de origen. Estos efectos a largo plazo no han sido analizados.

Segnn el texto, en la distribucion del agua:

. los agentes desinfectantes pueden afectar a las tuberias.

. proliferan los cultivos de bacterias y microorganismos

. s¢ dan procesos de mutacidn de organismos que no estan estudiados.
. influye en la fragilidad del sistema biologico que es el agua

1)1

(2) 2

3) 3

(4) 4
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